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Question Id : 4255894904 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)

The following table shows the cumulative percentage of the total number of students appearing in
the Hindi and Punjabi examination and the cumulative number of students appearing in the Hindi
examination and scoring marks in five different categories, namely, 80 and above; 70 and above; 60 and
above; 50 and above; and 40 and above. Based on the data in the table, answer the questions that
follow.

Marks-wise distribution of students

Cumulative precentage of ;
the total number of students B s e N
Marks (Out of 100) : vy students who appeared

who appeared in Hindi and in Hindi
Punjabi

80 and above 15% 108

70 and above 35% 264

60 and above 65 % 424

50 and above 90% 554

40 and above 100% 624

Note : (1) Total number of students who attended the exam is 1200.

(2) No student failed in the examination.

(3) Each student appeared in only one exam, that is, either in Hindi or in Punjabi exam.
Sub questions
Question Number : 1 Question Id : 4255894905 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question Mandatory

:No
Correct Marks : 2 Wrong Marks : 0

What is the sum of the number of students who scored 70 or more than 70 but less than 80 marks
in Hindi and the number of students who scored 80 or more than 80 marks in Punjabi ?

(1) 330

(2) 228
(3) 272
(4) 284

Options :

42558919056. 1
42558919057. 2
42558919058. 3
42558919059. 4

Question Number : 2 Question Id : 4255894906 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question Mandatory
: No
Correct Marks : 2 Wrong Marks : 0

What is the ratio of the number of students who scored 50 or more than 50 marks but less than 60
marks in Hindi to the number of students who scored 40 or more than 40 marks but less than 50
marks in Punjabi ?

1 12:11
(2 8:7
(3) 3:1
(4) 13:5
Options :

42558919060. 1
42558919061. 2
42558919062. 3
42558919063. 4

Question Number : 3 Question Id : 4255894907 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question Mandatory
:No
Correct Marks : 2 Wrong Marks : 0



The number of students who scored 80 and above marks in Hindi is % less than the
number of students who scored 60 or more than 60 marks but less than 70 marks in Punjabi.

(1) 46

(2) 54
(3) 44
(4) 52

Options :

42558919064. 1
42558919065. 2
42558919066. 3
42558919067. 4

Question Number : 4 Question Id : 4255894908 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question Mandatory
:No

Correct Marks : 2 Wrong Marks : 0
What is the difference between the number of students who scored 70 or more than 70 marks but

less than 80 marks in Punjabi and the number of students who scored 40 or more than 40 marks
but less than 50 marks in Hindi ?

(1 20
(2) 16
(3) 14
(4) 30

Options :

42558919068. 1
42558919069. 2
42558919070. 3
42558919071. 4

Question Number : S Question Id : 4255894909 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question Mandatory
:No

Correct Marks : 2 Wrong Marks : 0
What is the average of the number of students who scored 50 or more than 50 marks but less than

60 marks in Punjabi and the number of students who scored 50 or more than 50 marks but less
than 60 marks in Hindi ?

(1) 180
(2 150
(3) 200
(4) 140

Options :

42558919072. 1
42558919073. 2
42558919074. 3
42558919075. 4



Question Id : 4255894904 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)

e anferent o e @ dsTrelt gte & sm1 o aret fanfel 1 o gem o dfea afava o e uften § am
oH 3T 80 9 3ftrer; 70 9 S1fHeR; 60 & s1feeR; 50 9 e, 340 9 sifus w1 9 =1 Aforal o i wra =
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80 3 afirs 15% 108
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50 7 e 90 % 554

40 7 sfemn 100% 624
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Sub questions

Question Number : 1 Question Id : 4255894905 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question Mandatory
:No
Correct Marks : 2 Wrong Marks : 0

fedt o 70 sreren 70 ¥ Aferes W=y 80 | W ik U KT It fornfef=i 1 Wem 9 versh § 80 steen 80

atfere sieF UTE A el faenferi # wem & A e ® 2

(1) 330
(2) 228
(3) 272
(4) 284

Options :

42558919056. 1
42558919057. 2
42558919058. 3
42558919059. 4

Question Number : 2 Question Id : 4255894906 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question Mandatory
:No
Correct Marks : 2 Wrong Marks : 0

feal # 50 sien 50 | ATHF W 60 ¥ FH 3 I FHIA Al foenfeiai =t g &1 gsiet § 40 Sera 40
i | siferer U 50 37 | W o7 W A ool ool w6t gen 9 ST #4982

1 12:11
(2 8:7
(B) 3:1
(4) 13:5

Options :

42558919060. 1
42558919061. 2
42558919062. 3
42558919063. 4

Question Number : 3 Question Id : 4255894907 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question Mandatory
: No
Correct Marks : 2 Wrong Marks : 0



f&t o 80 3reran 80 U tferek 3k Wra A et farnfei=i =i T =1 dSel § 60 219N 60 31 ¥ sifeer

W 70 3R | FHH 3iF 9 FA g faenfat @ gen | % HH T
(1) 46
(2) 54
(3) 44
(@) 52
Options :

42558919064. 1
42558919065. 2
42558919066. 3
42558919067. 4

Question Number : 4 Question Id : 4255894908 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question Mandatory
: No

Correct Marks : 2 Wrong Marks : 0
SIS W 70 e 70 37k § S T 80 S | FH YTdieh ol faenferdt w1 g o it § 40 s
40 3fF § 21fires W 50 ofF T 0 T gt faenfefEt o6 g ¥ e & w2

(1 20
2 16
() 14
4) 30

Options :

42558919068. 1
42558919069. 2
42558919070. 3
42558919071. 4

Question Number : S Question Id : 4255894909 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question Mandatory
:No
Correct Marks : 2 Wrong Marks : 0

UITel ® 50 S1e/ 50 27 © ferer W 60 37k ¥ w0 Wi ot faenferdt #1 gemn o féd | 50 stemn

50 3 | 2114 W 60 37 ¥ A Uik aret fonfei w5 dem & sid €2

(1) 180
(2) 150
(3) 200
(4) 140

Options :

42558919072. 1

42558919073. 2

42558919074. 3

42558919075. 4

Sub-Section Number : 2
Sub-Section Id : 425589200
Question Shuffling Allowed : Yes



Question Number : 6 Question Id : 4255894910 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question Mandatory
:No
Correct Marks : 2 Wrong Marks : 0
The role of a teacher in the simulation model is that of y
(1) Explaining
(2) Designing
(3)  Describing
(4) Chosing activity
Options :
42558919076. 1
42558919077. 2
42558919078. 3
42558919079. 4

Question Number : 6 Question Id : 4255894910 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question Mandatory

:CIZFrect Marks : 2 Wrong Marks : 0

T Tied | UF e F1 e = Bl
(1) = A (F9E)

(2) wfvweada

(3) 9w

(4) FEFEAT A

Options :

42558919076. 1
42558919077. 2
42558919078. 3
42558919079. 4

Question Number : 7 Question Id : 4255894911 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question Mandatory
: No

Correct Marks : 2 Wrong Marks : 0

The CBCS (Choice Based Credit System) in higher education promotes :
(I) Rigid Curriculum structure

(2) Flexibility in course selection

(3) Limited student choices

(4) Only theoretical learning

Options :

42558919080. 1

42558919081. 2

42558919082. 3

42558919083. 4

Question Number : 7 Question Id : 4255894911 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question Mandatory
:No
Correct Marks : 2 Wrong Marks : 0

T fonen § 91 eH.wE (Ige e sfee fawen) frefafea = dearfed &
(1) = qST=d] §L=H1

(2) HISTERE =99 H THAEC]

(3) BT % "W i =99 % e

(4) Faa Tarfad st

Options :

42558919080. 1
42558919081.2
42558919082. 3
42558919083. 4



Question Number : 8 Question Id : 4255894912 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question Mandatory
.Cl::rect Marks : 2 Wrong Marks : 0

Arrange the problem-solving strategy.

(A) Generate many possible solutions

(B) Determine how to implement the solution and evaluate the success of the solution
(C) Make a decision

(D) Evaluate each solution

(E) Define the problem

Choose the correct answer from the options given below.

(1) B,E ADC

2} EADCEB

3) ABCDE

4 CABED

Options :

42558919084. 1

42558919085. 2

42558919086. 3
42558919087. 4

Question Number : 8 Question Id : 4255894912 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question Mandatory
;Zlo\lfrect Marks : 2 Wrong Marks : 0
THEA-HHTHM 31 TOMIaA] 1 SHareerd it :
(A) FF GYE FHIEM H1 3G FHA
(B) T FAuifta 2 foF womm 1 Y franfaa foran ST oiR T o gt @ Y godie fea
S,
(C) faoia o
(D) ek HHIMM 1 Yo
(E) wen = ftenfud e
Fr= feu Tu foekedi § 9 WE I A ¢
() B,E,AD,C
2) BEADCEB
(3) A,B,.C,DE
(4 C,ABED
Options :
42558919084. 1
42558919085.2
42558919086. 3
42558919087. 4



Question Number : 9 Question Id : 4255894913 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question Mandatory
.Cl::rect Marks : 2 Wrong Marks : 0

Learning for all implies :

(A) Inclusive Education

(B) Equitable Education

(C) Inclusive and Equitable Education

(D) Quality Education

(E) Categorized based Education

Choose the correct answer from the options given below.
(1) A, Band D only

(2) AandE only

(3) Conly

(4) Donly
Options :

42558919088. 1

42558919089. 2

42558919090. 3
42558919091. 4

Question Number : 9 Question Id : 4255894913 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question Mandatory
: No
Correct Marks : 2 Wrong Marks : 0

guft o for arfermy = oo
(A) FuEE faen

(B) =raET fasn

(C)  THE IR =y fore
(D) TuTEETE faEn

(E) afiertu-smeniiia famem

e feu T foskedi § 9 W IO A ¢
(1) & A, B3RD

(2) %FEd A IARE

(3) @ C

(4) %@ D

Options :

42558919088. 1
42558919089. 2
42558919090. 3
42558919091. 4



Question Number : 10 Question Id : 4255894914 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - I1 :

List - I List - II
(Learning style) (Strengths)
A.  Convergent L. Creating theoretical model
B. Divergent II.  Practical Application of ideas
C.  Assimilation III. Carrying out plans and tasks that involves students

in new experiences
D. Accommodative IV. Imaginative ability and generation of ideas
Choose the correct answer from the options given below :
(1) A-I B-lI, C-1I, D-IV
(2) A-1I, B, C-1II, D-1IV
(3) A-1I, B-IV, C-1, D-III
(4) A-1V, B-I, C-lII, D-II
Options :
42558919092. 1
42558919093. 2
42558919094. 3
42558919095. 4

Question Number : 10 Question Id : 4255894914 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T - 131 G - 1 H gafed #:
Tt -1 Tt - 1

( 3fermy St ) (wifem)
A.  afvmfa L Hgifder free = gfer e
B. fir= . foram = e
C.  SIHETERTo ML =9 Frernaedi 3T’ @l &6 &, oHH Fu
el ¥ fomnelt wefier 3 €1
D. HHESIO V. Hegaicaeh &l iR foem =1 3= e
= feu o faskedl o 9 wE 3w A ¢

(1) A-I, B-1I, C-1I, D-IV
(2) A-IIL B, C-1I, D-IV
(3) A-IL B-IV, C-1, D-1II
(4) A-1V, B-[, C1I, D-II

Options :

42558919092. 1

42558919093. 2

42558919094. 3
42558919095. 4



Question Number : 11 Question Id : 4255894915 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question Mandatory
: No
Correct Marks : 2 Wrong Marks : 0
What is Exploratory Research ?
(1) It describes social situations, social events, social systems, social structures etc. The researcher
observes/studies and then describes what did he find ?
(2) It studies subject about which either no information or the limited information is available.
(3) It explains the causes of social phenomena. Describing the magnitude and nature of crimes
committed by females in India is one aspect of female crime but why do they commit crime is
its explanatory aspect.
(4) Itis based on common sense knowledge based on the accumulated experiences and beliefs of
the people.
Options :
42558919096. 1
42558919097. 2

42558919098. 3
42558919099. 4

Question Number : 11 Question Id : 4255894915 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question Mandatory
: No
Correct Marks : 2 Wrong Marks : 0

TeTOTCHeR STE 9T Bl & 2
(1) = gmfee feafad, armfse seed, s sewnsii, grmfes =i, onfe &1 9o & 2
Vil STaceA/ AT AT € IR 99 F8 oo Sl € 6 S99 7 g

(2) 7 U o &1 aremga e & i an & a1 d FE g Suers e © s1ee ifd g Soee
zl

(3) I® WATSIeR TICeAT o RO = AT a1 & | WRA H Afeenshi gr T S T& A9 & foan =
TehR(a 1 FUH A Higel STIUY F UH Y T W o F SFTIY F FA § T8 ITH ANATHE T4
gl

(4) ¥ @t % wied sHve o Tyl W snenfa et 9fg 9§

Options :

42558919096. 1
42558919097. 2
42558919098. 3
42558919099. 4

Question Number : 12 Question Id : 4255894916 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is Explanatory research ?
(1) It studies subject about which either no information or the limited information is available.

(2) It describes social situations, social events, social systems, social structures etc. The researcher
observes/studies and then describes what did he find ?

(3) It explains the causes of social phenomena. Describing the magnitude and nature of crimes
committed by females in India is one aspect of female crime but why do they commit crime is
its explanatory aspect.

(4) Itis based on common sense knowledge based on the accumulated experiences and beliefs of
the people.
Options :
42558919100. 1
42558919101. 2
42558919102. 3
42558919103. 4



Question Number : 12 Question Id : 4255894916 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

SUIHTeER T )T Bl © 2

(1) =% UH faua 1 de999 Fa © 99k I § A1 ol s o1 S 72 © a1 Hiha o1 39+ & |
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gl
(4) TEnl % diem srva 3 favardi = aneifa gesrfs IH7 S e
Options :
42p558919100. 1
42558919101.2

42558919102. 3
42558919103. 4

Question Number : 13 Question Id : 4255894917 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Standard deviation (S) and coefficient of Variation (CV Expressed as a percentage) of different

datasets are given in A-D, below. Compute the mean of each dataset and arrange in ascending
order.

A. §5=4,CV = 40/9
B. 5=5CV =625
C. S=14,CV = 70/3
D. S =16,CV = 160/7

Choose the correct answer from the options given below :
(1) C,B,D A

(2) CD,BA

(3) ADBC
(4 D,BCA
Options :

42558919104. 1
42558919105. 2
42558919106. 3
42558919107. 4



Question Number : 13 Question Id : 4255894917 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

=1 STeE] % "k fa=er (S) i Y& % TeuieR (CV wfaerdar #§ =e) 919 A-D H fgu 7 81 uers
SIeTHE o HIEA i U] hifeig 371 STE] 3h0 H Fared hifa :

A. S=4,CV =40/9

B 5=50V=6%

C. S=14,CV = 70/3

D. S =16 CV = 160/7

A firw T forere @ WA SR -
() CB,DA

() C.DBA

(3) A,D,BC

(4 D,BCA

Options :

42558919104. 1
42558919105. 2
42558919106. 3
42558919107. 4

Question Number : 14 Question Id : 4255894918 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are the risks of plagiarism for the researcher who plagiarises ?
A.  Losing of the Inspiration

B. Losing of the obtained titles

C. Destruction of obtained solutions

D. Destroying the public image

Choose the most appropriate answer from the options given below :
(I) A and C Only

(2) Band COnly

(3) Band D Only

(4) Cand D Only
Options :

42558919108. 1

42558919109. 2

42558919110. 3
42558919111. 4



Question Number : 14 Question Id : 4255894918 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
ekl &g 1 B 9 o wifefers = & Sifaw €2
A, IO H FH
B. YT YRl 1 g
C. I HHIHH <kl faam
D. e sfa & fasg
= feu v foskedi ® 9 W I A ¢

(1) aa A RC

(2) Fad BERC

(3) %ad BIRD

(4) Faa C 3RD
Options :

42558919108. 1
42558919109. 2
42558919110. 3
42558919111. 4

Question Number : 15 Question Id : 4255894919 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1 :

List - I List - II
1o
[Population mean(u) and szi 1 [Population standard deviation (o]
1 o
A, u=9, EZI;- =117 L. 10
Lgn
B, u=10, L E¥7=200 4
1 7 i
C. wu=11, szi =202 L. 6
1 )
B. =13 sz,- =160 v. 9

Choose the correct answer from the options given below :
(1) A-II B-1V, C-L, D-II

(2) A-IL B, C-1IV, D-III

(3) A-II, B-I, C-1V, D-II

(4) A-I, B-1Iv, C-I, D-III

Options :

42558919112. 1

42558919113.2

42558919114. 3
42558919115. 4



Question Number : 15 Question Id : 4255894919 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T - 1 %1 g - 11§ gafed &
gt -1 T - 11

. .
[ SHHEEAT UTe () AR Efo ] [SEEn " fa=e (o)

L B

A. u:q,ﬁZx,:ll? L 10
.

B, u=10, 7200 L 4
i

C. p=11, Z¥=202 . 6
i

D. u=12, szf-:lﬁﬂ IV. 9

=1 fou o faeredi § 9 W I A ¢

(1) A-I, B-1V, C-I, D-II
(2) A-IL B-I, C-IV, D-III
(3) A-II, B-1, C-IV, D-II
(4) A-lL B-IV, C-II, D-III

Options :

42558919112. 1

42558919113. 2

42558919114. 3
42558919115. 4

Question Number : 16 Question Id : 4255894920 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who directed the first talkie feature film made in India ?
(1) Ardeshar Irani

(2) Ritwik Ghatak

(3) Dada Saheb Phalke

(4) Bimal Roy

Options :

42558919116. 1

42558919117. 2

42558919118. 3
42558919119. 4



Question Number : 16 Question Id : 4255894920 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

yra o fAfda germ ared (2R 9rer fmen =1 e foea feam an ?

(1) &R TET

(2) TfeF ===
(3) gTEI |Ed Heh
(4) foma @
Options :

42558919116. 1
42558919117. 2
42558919118. 3
42558919119. 4

Question Number : 17 Question Id : 4255894921 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who directed the first film made in India ?
(1) Satyajit Ray

(2) Dada Saheb Phalke

(3)  Prithvi Raj Kapoor

(4) Ardeshar Irani

Options :

42558919120. 1

42558919121.2

42558919122.3
42558919123. 4

Question Number : 17 Question Id : 4255894921 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

yra 7 Aftfa weor fren <1 feem feem fram an ?
(1) Hegsid X

(2) <TET W Wk

(3) 9 T IR

(4) SIEIR T

Options :

42558919120. 1
42558919121.2
42558919122. 3
42558919123. 4



Question Number : 18 Question Id : 4255894922 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the correct chronological order of the following television programmes released on
Doordarshan in India (from earliest to latest)?

A Mahabharatha
B Chandrakanta
C. Hum Log

D. Ramayana

E Buniyad

Choose the correct answer from the options given below :
1) A BCDE

2} GCED AB

3 BCADE

4y B,ADEC

Options :

42558919124. 1

42558919125.2

42558919126. 3
42558919127. 4

Question Number : 18 Question Id : 4255894922 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
9RA H YA W 1 SefifasH el #1 Wet Fieshn (Faifes sifus § F6Taq aF) #n e ?
A. HeMId

B.  widl

C. @wam

D. ATHTET

E. g4

=1 feu o fasredi ° ¥ W@ I A ¢
(1) A BCDE

B CEDAB

(3) B,C A DE

(4 B,ADEC

Options :

42558919124. 1
42558919125.2
42558919126. 3
42558919127. 4



Question Number : 19 Question Id : 4255894923 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What among the following films are directed by Satyajit Ray ?

A Madhumati

B Apur Sansar

C. Sujata

D Aparajito

E Pather Panchali

Choose the most appropriate answer from the options given below :
(1) B, DandE Only

(2) A and C Only

(3) A, B,Cand D Only

(4) A, Band COnly

Options :

42558919128. 1

42558919129. 2

42558919130. 3
42558919131. 4

Question Number : 19 Question Id : 4255894923 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

=1 o | gogsiia ¥ g fefem frew sm o €2

A, HEEA

B. S HER

C. g

D.  qufsdr

E.  HI2R qiared

Fr= feu U fasedi § | W& 3 A ¢
(1) %= B, D SRE
(2) FEA A 3RC

(3) FaA A, B, CHRD
(4) Had A, BIHRC
Options :

42558919128. 1
42558919129. 2
42558919130. 3
42558919131. 4



Question Number : 20 Question Id : 4255894924 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - I1 :

List - I List - II
(Meaning) (Terms)
A.  Who L. Receiver
B.  Says what [I. Communicator
C. In which channel III. Message
D. To whom V. Medium

Choose the correct answer from the options given below :
(1) A-I, B-11, C-I, D-IV

(2) A-IL B-1v, C-1I, D-1I

(3) A-1I, B, C-1V, D-1

(4) A-IV, B-I, C-1, D-IIL

Options :

42558919132. 1

42558919133.2

42558919134.3
42558919135. 4

Question Number : 20 Question Id : 4255894924 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T - 1 %1 G - 1 H gafed &
qu-}-] -11

(3eh) (ug)
A, FH L 9T el
B. wNFed® . HeE
c. fra=mad [II. ®<w
D. fegg V. W=y
91 feu T fased § § W SO A ¢

(1) A-II, B-11, C-I, D-IV
(2) A-L B-IV, CII, D-II
(3) A, B-III, C-1V, D
(4) A-IV, B-II, C-1, D-III

Options :

42558919132. 1

42558919133.2

42558919134.3
42558919135. 4



Question Number : 21 Question Id : 4255894925 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Find the number that can replace question mark (?) in the series given below.
7, 12, 32, 122, ?, 3602, 25202

(1) 602
(2) 610
(3) 702
(4) 622
Options :

42558919136. 1
42558919137. 2
42558919138.3
42558919139. 4

Question Number : 21 Question Id : 4255894925 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TG HEA = A1 I S e gen | g faw () 6 afoeenfud # weR
7, 12, 32, 122, ?, 3602, 25202

(1) 602
(2) 610
(3) 702
(4) 622

Options :

42558919136. 1
42558919137. 2
42558919138. 3
42558919139. 4

Question Number : 22 Question Id : 4255894926 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In a certain code language :
‘NOIDA" is written as : 1, 4, 9, 15, 14
INDIA’ is writtenas : 1, 9, 4, 14, 9
How 'HELLO" will be written in this language ?
(1) 15,12,12,5,8

2y 512, 12,15, 8

(3} B5/12,12 15

(4) 12,5, 12,8, 15

Options :

42558919140. 1

42558919141.2

42558919142. 3
42558919143. 4



Question Number : 22 Question Id : 4255894926 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
SHITTT e 9 :
‘NOIDA’ 1 “1, 4, 9, 15, 14’ & &9 ¥ foman <@ &
‘INDIA’ 11,9, 4, 14, 9 % &9 # o o g1
Iydad W | 'HELLO' &t %4 fomar sam ?
(1) 15,12,12,5,8
() 5,12,12,15, 8
(3) 8,512,112, 15
(4) 12,5,12,8,15

Options :

42558919140. 1
42558919141. 2
42558919142. 3
42558919143. 4

Question Number : 23 Question Id : 4255894927 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following statement(s) is/are wrong ?

A. A man runs at a speed of 20 km/hr and covers a distance of 400 m. The time taken by the
man to cover 400 m is 8 minutes.

B. A person covers a certain distance at x km/hr and an equal distance at y km/hr. The

average speed during the whole journey is Xty km/hr.

1
C. A Cydlist covers a distance of 750 m in 25 minutes. The speed of the cyclist is 18 km /hr.

5x
D. Aspeed of x km/hr is equal to E m/ sec

Choose the most appropriate answer from the options given below :
(I) A Only

(2) Aand BOnly

(3) AandC Only

(4) B, Cand D Only

Options :

42558919144. 1

42558919145. 2

42558919146. 3
42558919147. 4



Question Number : 23 Question Id : 4255894927 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
=1 8 & =\ QU8 e e § 7

A, Hfg wa =fa 20 frHisR #1 fa T <o € o 400 Hiet # ¥ 7 Fa €, @400 W, F gl 0
A o 3H 8 fore o1 9w o © |

B. U =AfH x foh. /s o fa ¥ wsh g o7 o ® IR I € gl y fR s & vfa e s g
2
Fo e H 3He ofrd i %ﬁ?ﬁ}/‘q%%l
C. U GEfHa =ree® 750 Hiet & gl 2% e © 99 &1 © | 39 Hrsfere =mere i Tfd 18 feri/sa
g

D. xR = R f—g R Y

a1 feu T foskedl § 9 w8 I T ¢
(1) %aa A

(2) Fad A IRB

(3) HEaA AR C

(4) A B,C3RD
Options :

42558919144. 1
42558919145. 2
42558919146. 3
42558919147. 4

Question Number : 24 Question Id : 4255894928 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

When a producer allows 36% commission on the retail price of his product, he earns a profit of
8.8%. What would be his profit if the commission is reduced by 24% ?

(1) 36.6%

(2) 49.6%
(3) 59.6%
(4) 45.6%

Options :

42558919148. 1
42558919149. 2
42558919150. 3
42558919151. 4



Question Number : 24 Question Id : 4255894928 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

S IS SITCH ST SIS & Gell Hod W 36 Yiavrd iy <1 ¥ 91 3§ 8.8% Y Wi e 1 4f 3|
SHHTYH H 24 G 1 sherdl L <1 S @ 39 foRa @ 9w 8 2
(1) 36.6%

(2) 49.6%
(3) 59.6%
(4) 45.6%

Options :

42558919148. 1
42558919149. 2
42558919150. 3
42558919151. 4

Question Number : 25 Question Id : 4255894929 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A sum was put at simple interest at a certain rate for 3 years, Had it been put at 1% higher rate, it
would have fetched ¥5100 more. Find the sum.

(1) < 170,000

(2) ¥ 150,000

(3) T 175,000

(4) T 200,000

Options :

42558919152. 1

42558919153.2

42558919154.3
42558919155. 4

Question Number : 25 Question Id : 4255894929 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
U G 2R TR HMmO ST S W 3 o o faEn S €1 Afe 3w emth 1% St 5 9 fean s

@ T 5100 31fere 9T S| TH HAALRT I J0T I |
(1) T 170,000

(2) 150,000

(3) ¥ 175,000

(4) T 200,000
Options :

42558919152. 1
42558919153. 2
42558919154.3
42558919155. 4



Question Number : 26 Question Id : 4255894930 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements contradict each other ?

A.  All ducks are birds.

B. Some ducks are birds.

C. Some ducks are not birds.

D. No ducks are birds.

Choose the most appropriate answer from the options given below :
(I) A and D Only

(2) Band COnly

(3) Band D Only

(4) Cand D Only
Options :

42558919156. 1
42558919157. 2
42558919158.3
42558919159. 4

Question Number : 26 Question Id : 4255894930 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafigd § | #9-9 %97 Tk g5 F1 A Hd © 7

A, T s ue g T

B. F® 9wy Uel € €

C. off sy weft 7 o €

D. @ oo veft e g

e feu T fosedl # 9 w8 I A ¢
(1) oA AR D

(2) %A B3R C

(3) %E@ BIRD

(4) A C 3RD
Options :

42558919156. 1
42558919157. 2
42558919158. 3
42558919159. 4



Question Number : 27 Question Id : 4255894931 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

If the statement “No birds are animals” is given as false, which of the following statements can be
inferred to be true ?

A. Some animals are not birds.

B. Some birds are not animals.

C. Some animals are birds.

D. Some birds are animals.

Choose the most appropriate answer from the options given below :

(1) A and B Only

(2) Cand D Only

(3) B Only
(4 A, B CandD
Options :

42558919160. 1
42558919161. 2
42558919162. 3
42558919163. 4

Question Number : 27 Question Id : 4255894931 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Tfg YT g vel SR T BT ©' R TR " o € o Frefafea ®§ 9 A Fuel F A en
ST S ST Gkl € 7

A, FS TR aft 78 o 2

B. T Tafl STeR 7L 2§

C. 8 I usfian €

D. %o 9afl STer 3d & |

Fr=1 fau U fasredi # | WE I A ¢
(1) e A 3B

(2) %A C3RD

(3) I B

(4) A B, CHID

Options :

42558919160. 1
42558919161.2
42558919162. 3
42558919163. 4

Question Number : 28 Question Id : 4255894932 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“This is the richest fraternity on the campus; therefore Mr. X who is a member of this fraternity
must be one of the richest young man on the campus.” Which fallacy is involved in this
argument ?

(1) Fallacy of division

(2) Fallacy of irrelevant conclusion

(3) Red Herring

(4) Slippery slope

Options :

42558919164. 1

42558919165. 2

42558919166. 3

42558919167. 4



Question Number : 28 Question Id : 4255894932 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

2 AT o1 R WS S AR ¥ Tfere o T (X) S 3 Sl W % W € IR % ggsan
Al § § T e A 1’ 39 gia W -9 aehar formE € 2

(1) feome-am

(2) wfaicr fafs <
(3) 9Tk GRd

(4) TFEegF TaH
Options :

42558919164. 1
42558919165. 2
42558919166. 3
42558919167. 4

Question Number : 29 Question Id : 4255894933 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following in order of increasing extension.
A.  Social Science

B. Political Science

C. Sciences

D. Politics of International Relations

Choose the most appropriate answer from the options given below :

f €A BED
() ACBD
(3) B D AC
(4 D,B A C
Options :

42558919168. 1
42558919169. 2
42558919170. 3
42558919171. 4

Question Number : 29 Question Id : 4255894933 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FrefafEa &1 Jed ot & %0 § Jafted Fife :

A, T foge

B.  TSHIfafa=

C. famm

D. eTauieg gai &l TeEi
9 fou v faedi # & @l I A -
(1) CABD

(20 A CBD
(3) B,D,AC
(4 D,B,AC
Options :
42558919168. 1
42558919169.2

42558919170. 3
42558919171. 4



Question Number : 30 Question Id : 4255894934 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to the classical Indian school of logic, which of the following instruments of knowledge
is defined as the knowledge of the relation between a word and its denotation and is produced by
the knowledge of resemblance or similarity ?

(1)  Pratyaksa (perception)
(2) Anumana (inference)
(3) Upamana (comparison)

(4) S’abda (verbal testimony)

Options :

42558919172. 1
42558919173.2
42558919174. 3
42558919175. 4

Question Number : 30 Question Id : 4255894934 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

= YR TeRIe 7 o SI99R fefafaa § § 96 % fFm 199 &1 78 301 39 oad & o9 ga9
o FH % T H qR9fd foran s € o7 Sreedd F 9 % §9 H 30 foRan S 82

(1) v
(2) gHH
(3) 3TN
4 =

Options :

42558919172. 1
42558919173. 2
42558919174.3
42558919175. 4

Question Number : 31 Question Id : 4255894935 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following is an example of [EEE 802.3 ?

(1) LAN
(2) MAN
(3) WAN
(4) PAN

Options :

42558919176. 1
42558919177. 2
42558919178. 3
42558919179. 4



Question Number : 31 Question Id : 4255894935 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
frefefea & & em€2.€ 802.3 (IEEE 802.3) foFgart Us 3gmeo 272
(1) TATTA. (LAN)
(2) WHEUA (MAN)
(3) B=g LUA (WAN)
(4) WUTE (PAN)
Options :
42558919176. 1
42558919177. 2

42558919178. 3
42558919179. 4

Question Number : 32 Question Id : 4255894936 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following technologies is used in second generation of computer ?
(1)  Vacuum tubes

(2) Transistors
(3) Integrated Circuits
(4) VLSI

Options :

42558919180. 1
42558919181. 2
42558919182. 3
42558919183. 4

Question Number : 32 Question Id : 4255894936 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
freaferfaa & 4 Fre drehfrert wreee # fodm 0§ g9 #1 o €2
(1) SR =

(2 zifsed

(3) wHfea wikm

(4) SLUETH.SE, (VLSI)
Options :

42558919180. 1
42558919181. 2
42558919182. 3
42558919183. 4



Question Number : 33 Question Id : 4255894937 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is correct sequence of increasing access time of storage/memory devices ?
A Magnetic tape

B RAM

C. Cache memory

D Hard disk

E Registers

Choose the correct answer from the options given below :

1) A BCDE

Z} BECAD

30 ECBDA

4 CEBAD
Options :

42558919184. 1

42558919185.2

42558919186. 3
42558919187. 4

Question Number : 33 Question Id : 4255894937 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

frefefas & 9 Fra SRe/AHE SUFRTT F 9 T 2B (T8 W) 96 FH € 2

A. Hmfew 24
B. T (RAM)
C. 9 #HH
D. @€ fe=
E. oy

=1 feu Tu faskedi § ¥ Wl I A ¢
(1) A BCD,E
(2) B,ECAD
(3) ECBD,A
(4) GCEBAD
Options :

42558919184. 1
42558919185. 2
42558919186. 3
42558919187. 4



Question Number : 34 Question Id : 4255894938 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
With reference to cyber attacks, which of the following statements are correct ?

A.  Malware is a malicious software designed to cause damage to a single computer, server or
computer network.

B.  Types of malware include computer viruses, worms, trojan horses, ransomware and spyware.
C. Pegasus is a malicious software classified as Ransomware.

D. India is not a signatory to the Budapest convention on cybercrime.

Choose the most appropriate answer from the options given below :

(1) A, Band C Only

(2) B,C and D Only

(3) A B CandD

(4) A, Band D Only

Options :

42558919188. 1
42558919189. 2
42558919190. 3
42558919191. 4

Question Number : 34 Question Id : 4255894938 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frfefad & 9§ F19 Fu Teer evc & g § Tel €7

A. TR U fagugel HiveseR €, Tof s Uhel HRge, Wl A1 el Aeed & AT UgEH % oy
srfireRfeTa fopam T €1

B. HIGTIR % Wbl H HPX dPRE, 9, 219 B, e 3T e aftafed ¥ |

C. YTg R % B9 § aiigd U fagegel giear ¥

D. YRd HEE-S90Y W FEre STy W U gseed v T 2

5 o fed T e

(1) %ad A, B3iRC
(2) %A B,C 3D

(3 ABC3®RD
(4) Fad A, B3IRD

Options :

42558919188. 1
42558919189.2
42558919190. 3
42558919191. 4



Question Number : 35 Question Id : 4255894939 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - I1 :

List - I List - IT
(Operating system) (Task)
A.  UNIX I Assist users in system maintenance task
B. MS-DOS [I. Mobile device
C. Android OS III. Single user operating system
D.  Utility programs IV. Mult user operating system

Choose the correct answer from the options given below :
(1) A-II, B-1V, C-I, D-I

(2) A-IL B-II, C-1V, D-IIL

(3) A-1V, B-lI, C-II, D-1

(4) A-II, B-1, CI, D-IV

Options :

42558919192. 1

42558919193. 2

42558919194. 3
42558919195. 4

Question Number : 35 Question Id : 4255894939 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T - 1 %1 G - 1 H gafed &
gt -1 T - 10

( arrorfe faewm) (wTd)
A.  FTASE.THE. (UNIX) [ Yolel &% wEvEd & § Suhmeal
1 TRTHAT I 2|
B. TWH.UH.EW (MS-DOS) . HEEd 39
C. TElEe JALTHE. (Android OS) . TE7er o sqifen faen
D. gfeferd grms (Swfirar i) V. Wee-ger s faen
e feu T fosedl § § W S ¢

(1) A-II, B-1V, C-I, D-II
(2) A-l B-II, C-IV, D-1II
(3) A-1V, B-III, C-1I, D-1
(4) A-II, B-I, C-I, D-IV

Options :

42558919192. 1

42558919193. 2

42558919194. 3
42558919195. 4



Question Number : 36 Question Id : 4255894940 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are true about coliform bacteria ?

A.  They are used to test water contamination.

B. Coliform bacteria are harmless and cause no disease.

C.  They are found naturally in human intestinal tract.

D.  Their presence in water is an indication of fecal contamination.
Choose the most appropriate answer from the options given below :
(I) A and D Only

(2) Band COnly

(3) A, Cand D Only

(4) A B CandD

Options :

42558919196. 1
42558919197. 2
42558919198. 3
42558919199. 4

Question Number : 36 Question Id : 4255894940 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
frefefaa & & Fifererd sfar & ar F 98 Fo & €2
A, 3% So-Hguw % ufteror H g feRe S e
B.  Hifcrorid Sftary sterfert ¥ Sii forsdt I i1 o0 el o
C. T O &7 et § Tenifaes &9 3 I S ¥ |
D. W H g fomman fatet Heum @ uE WA

e feu T fosedl # 9 w8 I A ¢
(1) <A A SRD

(2) %adA BRC

(3) FaA A, C3RD

(4) A B, C3RD

Options :

42558919196. 1
42558919197. 2
42558919198. 3
42558919199. 4



Question Number : 37 Question Id : 4255894941 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Why is the concentration of CO, is more in the Northern Hemisphere than the Southern
Hemisphere ?

A. Land mass is more in the Northern Hemisphere.
B. Ocean body is more in the Southern Hemisphere.
C. Fossil fuel is burnt more in the Northern Hemisphere.

D. Northern Hemisphere is colder than the Southern Hemisphere.
Choose the most appropriate answer from the options given below :
(1) A and C Only

(2) B, CandD Only

(3) A, Band C Only

(4) Band DOnly

Options :

42558919200. 1
42558919201. 2
42558919202. 3
42558919203. 4

Question Number : 37 Question Id : 4255894941 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
gféqor Tiremdd <t qer # S ey § CO, 1 Wh i sifuE ¥ 2
A, SR e # yfa-fig sifeek
B.  afeqor viems # werEwR A €
C. udt vrend # Sfawn fya stfies o T
D.  fegor e =i g H Iud e st guer €

i fou o foeredl & wé TR A ¢
(1) Faa AARC

(2) %A B,C3RD

(3) %a@ A, B3RC

(4) FTABIRD

Options :

42558919200. 1
42558919201. 2
42558919202. 3
42558919203. 4

Question Number : 38 Question Id : 4255894942 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Increasing the ratio of fissile Uranium (U-235) in natural uranium is known as :
(1) Enhancement

(2) Concentration

(3) Accumulation

(4) Enrichment

Options :

42558919204. 1

42558919205. 2

42558919206. 3
42558919207. 4



Question Number : 38 Question Id : 4255894942 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Tk faeR Fifam § fardeda fam (Z-235) & 39 1 aumreR 4§ | foeg w9 1 5 s g2
(1) wafs

(2) HE=m
(3) HeEA
“ Hfs

Options :

42558919204. 1
42558919205. 2
42558919206. 3
42558919207. 4

Question Number : 39 Question Id : 4255894943 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the correct sequence, from initial to final, of surface waste water treatment ?
A. Disinfection

B. Sedimentation

C. Filtration

D. Screening

Choose the correct answer from the options given below :

() A BCD
(20 ABD,C
(3) DB AC
(4) D,B,C A
Options :

42558919208. 1
42558919209. 2
42558919210. 3
42558919211. 4

Question Number : 39 Question Id : 4255894943 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Al 7M. STel SUER W1 oy & oifq, wet sy 2

A, fodsEmo

B. AddrEH

C. fyedea

D. @it

<3 faw T e W @ WA SO -
(1) A BCD

(2 ABDC

i DAL

4 D,BCA

Options :

42558919208. 1
42558919209. 2
42558919210. 3
42558919211. 4



Question Number : 40 Question Id : 4255894944 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are differences between Modified Mercalli Scale (MMS) and Richter Scale
(RS) ?

A. RS measures the energy released while MMS measures both energy and devastation
B. RS uses linear scale while MMS uses logarithmic scale

C.  Value of RS is constant in an earthquake while MMS varies depending upon distance
D. Levels in RS is more than MMS

Choose the most appropriate answer from the options given below :

(I) A and B Only

(2) Band COnly

(3) Cand D Only

(4) A and C Only

Options :

42558919212. 1
42558919213. 2
42558919214. 3
42558919215. 4

Question Number : 40 Question Id : 4255894944 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

GTe Aehell het (TH TH TF) IR et el (3R UH) & o= -1 S € ?

A. &R UH Hifga Fol i BT € Sele TH U TE So 3T Seeed Sl o AT § |

B. IR UY W@ TFe F WAF HAl € e U0 UH T SR 0 Thet o W e €
C. FYH R UH % AF fer 2 € Sefd un vy v H gl % o uR i 2 €

D. TUNWUH U & 3797 3R 09 H ¥ 2774F 2 €

e feu mu faedl § 9 W I ¢
(1) aa A 3IRB

(2) FFABRC

(3) %E@ C 3R D

(4) FaA A IRC

Options :

42558919212. 1
42558919213. 2
42558919214.3
42558919215. 4

Question Number : 41 Question Id : 4255894945 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In an ancient period, the Diksha Guru performed his duty as :
(1) Guru of secular subjects

(2) Spiritual guide for both girls and boys
(3)  Spiritual guide of boys

(4) Tutor

Options :

42558919216. 1
42558919217. 2
42558919218. 3
42558919219. 4



Question Number : 41 Question Id : 4255894945 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

I e § e T % &9 H 5T Heed 1 freled & ol
(1) =% g fue faudl =6 7& a1

(2) TIEfFRE SR T S F AACHE WG ol

(3) TIEH HI ATATCHER ATGYR of

(4) FfWeEF (T20) F T H TH FHded F1 e o

Options :

42558919216. 1
42558919217.2
42558919218. 3
42558919219. 4

Question Number : 42 Question Id : 4255894946 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which international organization co-ordinates the education for all programme at the global
level ?

(1) UNDP
(2) UNESCO
(3) IMF
(4) UNEP

Options :

42558919220. 1
42558919221. 2
42558919222.3
42558919223. 4

Question Number : 42 Question Id : 4255894946 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FA-H1 ST Gred, dfvas T W ga fau fosn s = g9 Fa €2

1y FE e
2) T
(3) = THTEH
4) FwWI
Options :

42558919220. 1
42558919221. 2
42558919222.3
42558919223. 4



Question Number : 43 Question Id : 4255894947 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following events in the correct chronological sequence.
A.  Establishment of the University of Madras

B. Introduction of the Indian Universities Act

C.  Establishment of UGC

D.  First National Education Policy of India

Choose the correct answer from the options given below :
1) A BCD

2 ADCB

3) BCAD

4 CBAD

Options :

42558919224. 1
42558919225. 2
42558919226. 3
42558919227. 4

Question Number : 43 Question Id : 4255894947 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Frefefaa seTsti 1 9é Fory § et it |

A, He favafaered =1 wm

B. wRdr fovafammem sifufm =1 quremE
C. favafoarem srgm @ (F i &) 1 T
D. 9Rd % Yecit UL e Hifa

=1 fou o fosredi W ¥ W@ I A ¢

(1) ABCD

(2 ADCB

(3 B,C A D

(4 CB,AD

Options :

42558919224. 1
42558919225. 2
42558919226. 3
42558919227. 4



Question Number : 44 Question Id : 4255894948 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

As per National Education Policy 1986, the major functions of the National Apex Body are :
A To allocate resources

B To evaluate the examination system

C. To advise government on policy

D To encourage inter-disciplinarily and promotion of interfaces among different areas.
E To conduct research in higher education

Choose the correct answer from the options given below :

(1) A, C EOnly

(2) B, Dand E Only

(3) C, DandE Only

4) A, Cand D Only

Options :

42558919228. 1

42558919229.2

42558919230. 3
42558919231. 4

Question Number : 44 Question Id : 4255894948 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
T foen Hifq 1986 % oTTER T 9 e (S9ee whew S1Eh F e E
A, HEYA FArsied HE

B. Ui YOTEH 1 HeAiERT HLAl

C. ifd ¥ gy ¥ ALER I e <A1

D. st=r-fawgswad F agmn <1 3R fa=-for= &3 & o sfaugei =1 o &
E. od foen & w9 &ew

a1 feu T fosredi § 9 w8 I A ¢

(1) %aa A, CE

(2) 9@ B, D 3RE

(3) %@ C, DR E

(4) Had A, C#RD
Options :

42558919228. 1
42558919229. 2
42558919230. 3
42558919231. 4



Question Number : 45 Question Id : 4255894949 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - 1T :
List - I

(Name of the institutions)
NIEPA

RUSA
QAA

o NP

HEFA

List - II
(Function)
I Ensuring Quality
I1 Providing loans to higher education institutions

[II. Infrastructure development for upgrading the
existing colleges into model colleges
IV. Promoting Research in planning and management

Choose the correct answer from the options given below :

(1) A-I, B-UI, C-II, D-IV
(2) A-l B-II, C-MI, D-IV
(3) A-I, B-1v, C-II, D-I
(4) A-1V, B-III, C-1, D-I
Options :

42558919232. 1

42558919233. 2

42558919234.3
42558919235. 4

Question Number : 45 Question Id : 4255894949 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T - 1 %1 g - 1 H gAafed &
it -1

GEAT hT A0
A, T E T T () I
B. SRITHT IL
C. HUT I1L.
D. TITUHRT Iv.
e feu o foredl # & WE SR A ¢

(1) A-L B-II, CII, DIV
(2) A-I B-lI, C-MI, D-IV
(3) A-L B-IvV, CII, D-II
(4)  A-IV, B-III, C-1, D-II

Options :

42558919232. 1

42558919233.2

42558919234. 3

42558919235. 4

Sub-Section Number :

Sub-Section Id :
Question Shuffling Allowed :

Tt - 1
T

TOTerl YA AT

T= Trerm 1 Teemsti o 0 WerH

HIS[a1 Fleisl o1 W Fgieht HARY hrers] (Hiee FHes) aar
TS TR Wei e § 91 =1 Hreefed =

3
425589201
No



Question Id : 4255894950 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Pattern Type : NonMatrix
Question Numbers : (46 to 50)

Read the following passage carefully and answer the questions .

Forced by circumstances and in search of success and status, educated young men and women
settle far away from their parents. Some go abroad. The very education that the parents manage
to give to their children turns against them in the end. Their children go away in search of green
pastures leaving them alone. International community as well as our government is aware of
their problems. The UNO proclaimed the year 1999 as ‘International Year for the Aged’. In our
own country too the year 2000 was proclaimed “The Year for the Aged'.

Article 41 of our constitution clearly makes it incumbent on the state to look after the aged.
There is a social welfare ministry responsible for the welfare of the aged. Laws are made from
time-to-time to protect the rights of senior citizens. For example under law parents cannot be
evicted from a house without due process of law under section 105 of the Criminal Procedure
Code. A magistrate can order a person to maintain his/her old parents under the Maintenance of
Parents Act. The Hindu Adoption and Maintenance act says that the aged parents can demand
for maintenance from their children. The Domestic Violence Act also provides parents with the
rights to seek relief from any kind of abuse.

Sub questions

Question Number : 46 Question Id : 4255894951 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

According to passage, who usually leaves their parents in lurch ?
(1) Disobedient wards

(2) Frustrated youth

(3) Career seeker children settled in distant places

(4) The ones who have job insecurity

Options :

42558919236. 1

42558919237.2

42558919238. 3
42558919239. 4

Question Number : 47 Question Id : 4255894952 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0
The year 1999 was proclaimed as :
(1) National year for the aged
(2)  Universal year for the aged
(3) International year for the aged
(4) SAARC year for the aged
Options :
42558919240. 1
42558919241.2
42558919242. 3
42558919243. 4

Question Number : 48 Question Id : 4255894953 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Under section 105 of the criminal procedure code, parents cannot be evicted from a house :

(I) Without due process of law

(2) In any situation

(3)  Without submitting their will

(4)  Unless their property is transferred to their legal heir

Options :

42558919244. 1

42558919245. 2
42558919246. 3



42558919247. 4

Question Number : 49 Question Id : 4255894954 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who is empowered to give order to the concerned for the maintenance of their parents ?
(1) A retired judge

(2) Thejudge of the High-Court

(3) Local Sarpanch

(4) A magistrate

Options :

42558919248. 1

42558919249. 2

42558919250. 3
42558919251. 4

Question Number : 50 Question Id : 4255894955 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following Act/Section does give parents rights to seek relief from any kind of
abuse ?

(I) Hindu Adoption and maintenance Act

(2) Section 105 of CPC

(3) The Domestic Violence Act

(4) Section 98 of CPC

Options :

42558919252. 1

42558919253.2

42558919254. 3
42558919255. 4



Question Id : 4255894950 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Freaferfiaa Teriyr it earde U o UYH e a9k o S g
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Sub questions

Question Number : 46 Question Id : 4255894951 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

I TR % SER B Hied T o 19 wer- odr 5 Bre 8 €2
(1) R =

(2) Frow g

(3) oo TIHl W gY HA AEd Je o=y

(4) 3, SRt ARt rgeiaa €

Options :

42558919236. 1
42558919237.2
42558919238. 3
42558919239. 4

Question Number : 47 Question Id : 4255894952 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

7 1999 1 forg =9 § =it o st o1 ?
(1) U g o

(2) wEdTHE gEsE T4

(3) ST gEsE Td

(4) Erh (SAARC) g5 o

Options :

42558919240. 1
42558919241.2
42558919242. 3
42558919243. 4

Question Number : 48 Question Id : 4255894953 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e g2 ufsar i 6RI-105 & sfaa Arar-od =i =R ¥ deEd Fel o 51 Sehar
(1) =FA o T9 9w & fam

(2) e ot feafa #
(3) eI aEEd weqa R fom
(4) S T TR TEUCT IR FHEA AH FN SFafid T wR & A



Options :

42558919244. 1
42558919245. 2
42558919246. 3
42558919247. 4

Question Number : 49 Question Id : 4255894954 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0

frefafea § | F9 gefea safea 1 39T A= F st 51 ey 2 F fou w2

(1) Harfags =g

(2) == AEEE H A

(3) THEE "
(4) wfEe

Options :

42558919248. 1
42558919249. 2
42558919250. 3
42558919251. 4

Question Number : 50 Question Id : 4255894955 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0

frefafea § | ma/sEd sfufzmam fFd R & gieer & Tea 9 F fon ama-fiar # sfrer

e HI/F & 7

M

(2) HALHF U¥-105

(3) = fEan srfufem

(4) HAH R U098
Options :

42558919252 1
42558919253. 2
42558919254. 3
42558919255. 4

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

forg goer IR sEo-gram sifufam

Computer Science and Applications

42558972
2

Online
Mandatory
92

92

200

0

1
425589202
Yes



Question Number : 51 Question Id : 4255894956 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
In a group of 120 people: 65 eat Rice, 45 eat bread, 42 eat curd, 20 eat both Rice and bread, 25 eat both
Rice and curd, 15 eat both bread and curd, and 8 eat all three items. Which of the following is the
number of people who eat at least one of the three items:

(1) 56
(2) 100
(3) 92

(4) 65
Options :
42558919256. 1
42558919257.2
42558919258. 3
42558919259. 4

Question Number : 51 Question Id : 4255894956 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
In a group of 120 people: 65 eat Rice, 45 eat bread, 42 eat curd, 20 eat both Rice and bread, 25 eat both
Rice and curd, 15 eat both bread and curd, and 8 eat all three items. Which of the following is the
number of people who eat at least one of the three items:

(1) 56
(2) 100
(3) 92

(4) 65
Options :
42558919256. 1
42558919257. 2
42558919258. 3
42558919259. 4

Question Number : 52 Question Id : 4255894957 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In a pack of 42 cards, 3 cards are chosen one after the other. Find the number of ways this can be done
without replacement:

(1) 1722
(2) 1752
(3) 68880

(4) 6880
Options :
42558919260. 1
42558919261. 2
42558919262. 3
42558919263. 4



Question Number : 52 Question Id : 4255894957 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In a pack of 42 cards, 3 cards are chosen one after the other. Find the number of ways this can be done
without replacement:

(1) 1722
(2) 1752
(3) 68880

(4) 6880
Options :
42558919260. 1
42558919261.2
42558919262. 3
42558919263. 4

Question Number : 53 Question Id : 4255894958 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A positive integer selected at random from the set of positive integers not exceeding 200. Which of the
followings is the probability that the selected number is divisible by either 2 or 5?

(1) 2/5
(2)  3/5
(3) 4/5
4 15
Options :
42558919264.
42558919265.
42558919266.
42558919267.

AW NN =

Question Number : 53 Question Id : 4255894958 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A positive integer selected at random from the set of positive integers not exceeding 200. Which of the
followings is the probability that the selected number is divisible by either 2 or 5?

(1) 2/5
(2) 3/5
(3) 4/5
(4) 15
Options :

42558919264. 1
42558919265. 2
42558919266. 3
42558919267. 4



Question Number : 54 Question Id : 4255894959 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Consider the Boolean expression A(x, y, z) = x (y’ z)'. Which of the following is complete sum-of-products
form of the given Boolean expression.

(1) xyz+x'yz' +x'y'2
(2) xyz’' +x'yz +x'y'?
(3) xyz’ +xy'z+x'y'?
(4) xyz +xyz +xy'?’
Options :
42558919268. 1
42558919269. 2

42558919270. 3
42558919271. 4

Question Number : 54 Question Id : 4255894959 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Consider the Boolean expression A(x, vy, z) =x (y' z)'. Which of the following is complete sum-of-products
form of the given Boolean expression.

(1) xyz+x'yz' +x'y'2
(2) xyz’' +x'yz +x'y'?
(3) xyz" +xy'z+x'y'?
(4) xyz +xyz +xy'?’
Options :
42558919268. 1
42558919269. 2

42558919270. 3
42558919271. 4

Question Number : 55 Question Id : 4255894960 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Choose the correct statement for a group G:

(1) f forall x, y € G, (xy)* = x*y* then G is Commutative.
(2) If forall x € G, x* =1, then G is Commutative. 1 is the identity element of G.
(3) I forall x € G, x* =1, then G is Commutative. 1 is the identity element of G.
(4) If G is Commutative, the sub-group of G need not be Commutative.

Options :

42558919272 1

42558919273.2

42558919274. 3

42558919275. 4



Question Number : 55 Question Id : 4255894960 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Choose the correct statement for a group G:

(1) f forall x, y € G, (xy)* = x*y* then G is Commutative.
(2) If forall x € G, x* =1, then G is Commutative. 1 is the identity element of G.
(3) If forall x € G, x* =1, then G is Commutative. 1 is the identity element of G.
(4) If G is Commutative, the sub-group of G need not be Commutative.

Options :

42558919272. 1

42558919273.2

42558919274. 3

42558919275. 4

Question Number : 56 Question Id : 4255894961 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Binary equivalent to (AOF)ss is :

1. 111000111

2. 101001111

3. 101000001111

4, 111100001010
Options :

42558919276. 1
42558919277. 2
42558919278.3
42558919279. 4

Question Number : 56 Question Id : 4255894961 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Binary equivalent to (AOF)ss is :

1. 111000111

2. 101001111

3. 101000001111

4. 111100001010
Options :

42558919276. 1
42558919277. 2
42558919278. 3
42558919279. 4

Question Number : 57 Question Id : 4255894962 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The write operation in I/O operation does the following-
1. Transfer datafrom I/O device to memory

2. Transfer data from memory to I/O device

3. Transfer data from CPU register to memory

4. Transfer data from CPU register to /0 device

Options :

42558919280. 1
42558919281. 2
42558919282. 3
42558919283. 4



Question Number : 57 Question Id : 4255894962 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The write operation in I/0O operation does the following-
1. Transfer datafrom I/O device to memory

2. Transfer data from memory to I/O device

3. Transfer data from CPU register to memory

4. Transfer datafrom CPU register to /0 device

Options :

42558919280. 1
42558919281. 2
42558919282. 3
42558919283. 4

Question Number : 58 Question Id : 4255894963 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The transformation of data from main memory to cache memory is referred as:

1. Dataexchange
2. Datatransformation
3

. Mapping
4. Matching
Options :

42558919284. 1
42558919285. 2
42558919286. 3
42558919287. 4

Question Number : 58 Question Id : 4255894963 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The transformation of data from main memory to cache memory is referred as:

1. Dataexchange

2. Datatransformation
3. Mapping

4. Matching
Options :
42558919284. 1
42558919285. 2
42558919286. 3
42558919287. 4

Question Number : 59 Question Id : 4255894964 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Gray code equivalent to decimal number 8 is:

1. 1000
2. 1100
3. 1010
4. 1110
Options :

42558919288. 1
42558919289. 2
42558919290. 3
42558919291. 4



Question Number : 59 Question Id : 4255894964 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Gray code equivalent to decimal number 8 is:

1. 1000
2. 1100
3. 1010
4. 1110
Options :

42558919288. 1
42558919289. 2
42558919290. 3
42558919291. 4

Question Number : 60 Question Id : 4255894965 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Consider the following piece of C programming code:
int x=128, y=110;
do
{
If{ x> vy)
X=X=Y;
else
Y=Y—X
}while(x! = y)
printf(“%d”,x);
Which one will be the output?

(1) 18
2) 2
(3) 92
(4) 74
Options :
42558919292. 1
42558919293.2
42558919294. 3
42558919295. 4



Question Number : 60 Question Id : 4255894965 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Consider the following piece of C programming code:
int x=128, y=110;
do

{
If{x>y)
X=X=Y,
else
Yy=y-—X
}while(x! = y)
printf(“%d"”,x);
Which one will be the output?

(1) 18
(2) 2
(3) 92
(4) 74
Options :
42558919292. 1
42558919293. 2
42558919294. 3
42558919295. 4

Question Number : 61 Question Id : 4255894966 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following technique is used for Clipping?

(1) Stack based Seed
(2) Scan Line Seed
(3) Sutherland-Cohen
(4) Inverse Scaling

Options :

42558919296. 1
42558919297.2
42558919298. 3
42558919299. 4

Question Number : 61 Question Id : 4255894966 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following technique is used for Clipping?

(1) Stack based Seed
(2) Scan Line Seed
(3) Sutherland-Cohen
(4) Inverse Scaling

Options :

42558919296. 1
42558919297. 2
42558919298. 3
42558919299. 4



Question Number : 62 Question Id : 4255894967 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What will be the output of the following C programming code:
inti, j;
for(i=1; i<5; i+=2)

for(j=1; j<i; j+=2)

printf(“%d”, j);

(1) 1

2) 1.2

(3) 1 3

4 1 1 3
Options :

42558919300. 1
42558919301. 2
42558919302. 3
42558919303. 4

Question Number : 62 Question Id : 4255894967 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What will be the output of the following C programming code:

inti, j;

for(i=1; i<5; i+=2)

for(j=1; j<i; j+=2)

printf(“%d”, j);

(1) A

(2) 1 2

(3) 1 3

(4 11 3
Options :

42558919300. 1
42558919301. 2
42558919302. 3
42558919303. 4

Question Number : 63 Question Id : 4255894968 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What would be the equivalent pointer expression for referring the array element ar[m][n][o]

(1) *(*(*(ar)+ m+n)+o0)

(2) (*(*(*ar+m)+n)+o0)

(3) (*(*(ar+m)+n)+o)
(4) *(*(*lar+m)+n)+o0)

Options :

42558919304. 1

42558919305.2

42558919306. 3

42558919307. 4



Question Number : 63 Question Id : 4255894968 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What would be the equivalent pointer expression for referring the array element ar[m][n][o]

(1) *(*(*(ar)+m+n)+o)
(2) (*(*(*ar+m)+n)+o)
(3) (*(*(ar+m)+n)+o)
(4) *(*(*(ar+m)+n)+o0)

Options :

42558919304. 1
42558919305. 2
42558919306. 3
42558919307. 4

Question Number : 64 Question Id : 4255894969 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Consider R (A,B,C,D,E) be relation with following dependencies:
C ->F, E-> A, EC ->D, A ->B. Which of the following is a key for R?

(1) cD
(2) EC
(3) AE
(4) AC

Options :

42558919308. 1
42558919309. 2
42558919310. 3
42558919311. 4

Question Number : 64 Question Id : 4255894969 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Consider R (A,B,C,D,E) be relation with following dependencies:
C->F, E-> A, EC ->D, A->B. Which of the following is a key for R?

(1) cD
(2) EC
(3) AE
(4) AC

Options :

42558919308. 1
42558919309. 2
42558919310. 3
42558919311. 4

Question Number : 65 Question Id : 4255894970 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Consider the relation T1(A,B,C,D E) with the dependencies {EB ->C ,D ->E, EA ->B} and T2(A,B,C,D) with
the dependencies {C->A ,A ->B, A->D}. Which of the following is TRUE?

(1) T1isin 3NF
(2) T2isin 3NF
(3) T1isnotin 3NF
(4) T1isin 2NF

Options :

42558919312. 1
42558919313.2
42558919314. 3
42558919315. 4



Question Number : 65 Question Id : 4255894970 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Consider the relation T1(A,B,C,D,E) with the dependencies {EB ->C ,D ->E, EA ->B} and T2(A,B,C,D) with
the dependencies {C->A ,A ->B, A->D}. Which of the following is TRUE?

(1) T1isin 3NF
(2) T2isin 3NF
(3) T1isnotin 3NF
(4) T1isin 2NF

Options :

42558919312. 1
42558919313.2
42558919314. 3
42558919315. 4

Question Number : 66 Question Id : 4255894971 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In a relational database, which one of the following is CORRECT:

(1) A relation with only two attributes is always in BCNF.

(2) If all attributes of a relation are prime attributes then the relation is in BCNF.
(3) Every relation has at least one non-prime attribute.
(4) BCNF decomposition preserves functional dependencies.

Options :

42558919316. 1
42558919317. 2
42558919318. 3
42558919319. 4

Question Number : 66 Question Id : 4255894971 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In a relational database, which one of the following is CORRECT:

(1) A relation with only two attributes is always in BCNF.

(2) If all attributes of a relation are prime attributes then the relation is in BCNF.
(3) Every relation has at least one non-prime attribute.
(4) BCNF decomposition preserves functional dependencies.

Options :

42558919316. 1
42558919317. 2
42558919318. 3
42558919319. 4

Question Number : 67 Question Id : 4255894972 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Consider the following three relations

Employee (eid, eName), Comp(cid, cName), Own(eid, cid). Which of the following relational algebra
expression return the set of eids who own all brands:

(1)  Teid( Teia,ca(OWn)/ Taa(Comp))
(2)  med Teia(OWN) X Tig(Comp))
(3) 7reid( Teig,ca{Own) X Teaa(Comp))
(4)  Teial TeialOWN) X (7T igc name (OWN)/ Tia(CoOmp)))
Options :
42558919320. 1
42558919321.2
42558919322.3
42558919323. 4



Question Number : 67 Question Id : 4255894972 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Consider the following three relations

Employee (eid, eName), Comp(cid, cName), Own(eid, cid). Which of the following relational algebra
expression return the set of eids who own all brands:

(1) Teial Meia,a(OWN)/ Taa(Comp))
(2) ﬂ.—e]d( neid(Own) X :rrcid(Comp))
(3)  mreid( Teig,ca(Own) X Taa(Comp))
(4)  Teid( Teia(OWN) X (T g came(OWN)/ TTaa(Comp)))
Options :
42558919320. 1
42558919321.2
42558919322. 3
42558919323. 4

Question Number : 68 Question Id : 4255894973 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Consider the following table about processes, their burst time and arrival time

Process Burst Time Arrival Time
Py 09 0
P2 30 0
P 04 0
Ps 08 7]
Ps 11 6

Now which of the process shall finish second last as per the respective GANTT charts for the non-
preemptive SIF and Round Raobin (time quantum = 10) scheduling methods.

1. SIF:Ps; RR:Ps
2. SIF:Ps; RR: P4
3. SIF:Ps; RR:P:

4. SIF:Ps; RR:Ps

Options :

42558919324. 1
42558919325. 2
42558919326. 3
42558919327. 4



Question Number : 68 Question Id : 4255894973 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Consider the following table about processes, their burst time and arrival time

Process Burst Time Arrival Time
Py 09 0
P2 30 0
P 04 0
P 08 2
Ps 11 6

Now which of the process shall finish second last as per the respective GANTT charts for the non-
preemptive SIF and Round Robin (time quantum = 10) scheduling methods.

1. SIF:Pa; RR:Ps
2. SIF:Ps; RR: P,
3. SIF:Ps; RR: P

4, SIF:Ps; RR:Ps

Options :

42558919324. 1
42558919325.2
42558919326. 3
42558919327. 4

Question Number : 69 Question Id : 4255894974 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following statement is correct for Pthreads?

It refers to POSIX standard (IEEE 1002.1c¢)
This standard defines API for thread creation only

o

This is a specification only for thread behavior and not its implementation
4. Operating systems like Solaris, Linux & Mac OS X, except Tru64 UNIX, implement Pthreads

Options :

42558919328. 1
42558919329. 2
42558919330. 3
42558919331. 4

Question Number : 69 Question Id : 4255894974 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following statement is correct for Pthreads?

It refers to POSIX standard (IEEE 1002.1c)
This standard defines API for thread creation only

I

This is a specification only for thread behavior and not its implementation
4. Operating systems like Solaris, Linux & Mac OS X, except Tru64 UNIX, implement Pthreads

Options :

42558919328. 1
42558919329. 2
42558919330. 3
42558919331. 4



Question Number : 70 Question Id : 4255894975 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
What shall be the average waiting time per process if we know that 10 processes (on average) arrive
every second and there are normally 20 processes in the queue?

1. 03seconds
1. 02seconds
2. 18seconds

3. 09seconds
Options :
42558919332 1
42558919333.2
42558919334. 3
42558919335. 4

Question Number : 70 Question Id : 4255894975 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What shall be the average waiting time per process if we know that 10 processes (on average) arrive

every second and there are normally 20 processes in the queue?

1. 03seconds
1. 02seconds
2. 18seconds

3. 09seconds
Options :
42558919332. 1
42558919333.2
42558919334. 3
42558919335. 4

Question Number : 71 Question Id : 4255894976 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What is the total swap time (Swap in & Swap out) in a system for a 15 MB process with a transfer rate of

30 MBps. Given that there is an average latency of 12 ms, however no head seeks involved.

1. 1.024 sec
2. 1.00sec
3. 0.512 sec
4, 12sec
Options :

42558919336. 1
42558919337. 2
42558919338. 3
42558919339. 4



Question Number : 71 Question Id : 4255894976 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the total swap time (Swap in & Swap out) in a system for a 15 MB process with a transfer rate of
30 MBps. Given that there is an average latency of 12 ms, however no head seeks involved.

1. 1.024 sec
2. 1.00sec
3. 0.512 sec
4, 12sec
Options :

42558919336. 1
42558919337. 2
42558919338.3
42558919339. 4

Question Number : 72 Question Id : 4255894977 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is not a requirement elicitation Technique

(1) Interviews
(2) The use case approach
(3) Facilitated Application Specification Technique (FAST)
(4) Data Flow diagram
Options :
42558919340. 1
42558919341. 2
42558919342 3
42558919343. 4

Question Number : 72 Question Id : 4255894977 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is not a requirement elicitation Technique

(1) Interviews
(2) The use case approach
(3) Facilitated Application Specification Technigue (FAST)
(4) Data Flow diagram
Options :
42558919340. 1
42558919341. 2
42558919342. 3
42558919343. 4

Question Number : 73 Question Id : 4255894978 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Estimation of software development effort for organic software in basic COCOMO is
(1) E=2.4(KLOC)**PM
(2) E=3.4 (KLOC)**PM
(3) E=2.0(KLOC)**PM
(4) E=2.4 (KLOC)* PM

Options :

42558919344. 1
42558919345.2
42558919346. 3
42558919347. 4



Question Number : 73 Question Id : 4255894978 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Estimation of software development effort for organic software in basic COCOMO is
(1) E=2.4(KLOC)**PM
(2) E=3.4(KLOC)"*PM
(3) E=2.0(KLOC)**PM
(4) E=2.4(KLOC)* PM

Options :

42558919344. 1
42558919345. 2
42558919346. 3
42558919347. 4

Question Number : 74 Question Id : 4255894979 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The process followed in order to find difficult, unknown and hidden information about a software
system is called

(1) Software Engineering
(2) Software Re-Engineering
(3) Reverse Engineering

(4) Inverse Engineering

Options :

42558919348. 1
42558919349. 2
42558919350. 3
42558919351. 4

Question Number : 74 Question Id : 4255894979 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The process followed in order to find difficult, unknown and hidden information about a software
system is called

(1) Software Engineering
(2) Software Re-Engineering
(3) Reverse Engineering

(4) Inverse Engineering

Options :

42558919348. 1
42558919349. 2
42558919350. 3
42558919351. 4

Question Number : 75 Question Id : 4255894980 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the followings is NOT a software characteristic?
(1) Software does not wear out

(2) Software is flexible

(3) Software is not manufactured

(4) Software is always correct

Options :

42558919352. 1
42558919353.2
42558919354. 3
42558919355. 4



Question Number : 75 Question Id : 4255894980 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the followings is NOT a software characteristic?
(1) Software does not wear out

(2) Software is flexible

(3) Software is not manufactured

(4) Software is always correct

Options :

42558919352. 1
42558919353. 2
42558919354.3
42558919355. 4

Question Number : 76 Question Id : 4255894981 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Consider the following infix expression Q: ((A+B) * D) D (E — F). The equivalent postfix expression of Q is

(1) AB+D*EF -
(2) AB+D*-1 EF
(3) AB+D E*F-1
(4) AB+D*EF-1
Options :
42558919356. 1
42558919357. 2
42558919358. 3
42558919359. 4

Question Number : 76 Question Id : 4255894981 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Consider the following infix expression Q: ((A+B) * D) 1 (E —F). The equivalent postfix expression of Q is

(1) AB+D*EF -
(2) AB+D*-1P EF
(3) AB+D E*F-1
(4) AB+D*EF-1
Options :
42558919356. 1
42558919357.2
42558919358. 3
42558919359. 4

Question Number : 77 Question Id : 4255894982 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The tight asymptotic bound for the recurrence T(n)= 2T(n/4) +v/n is

(1) ©(n)

(2) ©(nlogn)

(3) ©(Vnlogn)

(4) ©(nlogVvn)
Options :
42558919360. 1
42558919361.2
42558919362. 3
42558919363. 4



Question Number : 77 Question Id : 4255894982 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The tight asymptotic bound for the recurrence T(n)= 2T(n/4) +V/n is

(1) e(n)

(2) ©(nlogn)
(3) ©(vnlogn)
4) ©(nlogVvn)
Options :
42558919360. 1
42558919361.2
42558919362. 3
42558919363. 4

Question Number : 78 Question Id : 4255894983 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The longest common subsequence of {1,2,3,2,4,1,2} and {2,4,3,1,2,1} is

(1) 21,23
(2) 1,321
(3) 23,21
(4) 2,31,21
Options :
42558919364. 1
42558919365. 2
42558919366. 3
42558919367. 4

Question Number : 78 Question Id : 4255894983 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The longest common subsequence of {1,2,3,2,4,1,2} and {2,4,3,1,2,1} is

(1) 2,1,23
2) 1321
(3) 2324
(4) 231,24
Options :

42558919364. 1
42558919365.2
42558919366. 3
42558919367. 4

Question Number : 79 Question Id : 4255894984 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Maintaining a graph in memory by means of its adjacency matrix is known as

(1) Complete Representation
(2) Linked Representation
(3) Circular Representation
(4) Sequential Representation
Options :
42558919368. 1
42558919369. 2
42558919370. 3
42558919371. 4



Question Number : 79 Question Id : 4255894984 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Maintaining a graph in memory by means of its adjacency matrix is known as
(1) Complete Representation
(2) Linked Representation

(3) Circular Representation
(4) Sequential Representation
Options :
42558919368. 1
42558919369. 2
42558919370. 3
42558919371. 4

Question Number : 80 Question Id : 4255894985 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What will be the output of the following C Programming code :
void main ()
{

int *i, a=12, b=2, ¢;

c= (a=a+b, b=a/b, a=a*b, b=a-b)

i=&c;

printf(“%d”, —-(*i));

}
1. 9
2. 90
3. 98
4. 92
Options :

42558919372. 1
42558919373. 2
42558919374.3
42558919375. 4



Question Number : 80 Question Id : 4255894985 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What will be the output of the following C Programming code :
void main ()
{

int *i, a=12, b=2, c;

c= (a=a+b, b=a/b, a=a*b, b=a-b)

i=&c;

printf(“%d”, —(*i));

}
1. 9
2. 90
3. 98
4. 92

Options :

42558919372. 1
42558919373. 2
42558919374. 3
42558919375. 4

Question Number : 81 Question Id : 4255894986 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Consider the following DFA that generates set of strings over 3={a, b, ¢}

Now identify that which of the followings is the best description of the language for the above DFA
1. L=(a*+b*+c*)

2. L=(a+b+c)*(abc)(a+b+c)*

3. L={Set of strings, all starting with ‘a, b, ¢’ but ending with ¢’}

4. L={Set of strings, all having even count (including 0) of substring ‘abc’}

Options :

42558919376. 1
42558919377. 2
42558919378. 3
42558919379. 4



Question Number : 81 Question Id : 4255894986 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Consider the following DFA that generates set of strings over ¥={a, b, c}

Now identify that which of the followings is the best description of the language for the above DFA
L=(a*+ b*+c*)*
L=(a+b+c)*(abc)(a+b+c)*

L = {Set of strings, all starting with ‘a, b, ¢’ but ending with ‘c’}

w N

4. L={Set of strings, all having even count (including 0) of substring ‘abc’}

Options :

42558919376. 1
42558919377. 2
42558919378. 3
42558919379. 4



Question Number : 82 Question Id : 4255894987 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Consider the following DFA

1 2
3 4
Options :

42558919380. 1
42558919381. 2
42558919382. 3
42558919383. 4



Question Number : 82 Question Id : 4255894987 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Consider the following DFA

1 2
3 4
Options :

42558919380. 1
42558919381. 2
42558919382. 3
42558919383. 4

Question Number : 83 Question Id : 4255894988 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In a Stop-and-wait system, the bandwidth of the line is 1 Mbps, and 1 bit takes 30 milliseconds to make
a round trip. The bandwidth-delay product is

(1) 15,000 bits
(2) 20,000 bits
(3) 30,000 bits
(4) 60,000 bits

Options :

42558919384. 1
42558919385.2
42558919386. 3
42558919387. 4



Question Number : 83 Question Id : 4255894988 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In a Stop-and-wait system, the bandwidth of the line is 1 Mbps, and 1 bit takes 30 milliseconds to make
a round trip. The bandwidth-delay product is

(1) 15,000 bits
(2) 20,000 bits
(3) 30,000 bits
(4) 60,000 bits

Options :

42558919384. 1
42558919385.2
42558919386. 3
42558919387. 4

Question Number : 84 Question Id : 4255894989 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
CB84000D001C001C is the content of a UDP header in hexadecimal format. The source port number is

(1) 52100

(2) 13

(3) 28

(4) 52000
Options :

42558919388. 1
42558919389. 2
42558919390. 3
42558919391. 4

Question Number : 84 Question Id : 4255894989 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

CB84000D001C001C is the content of a UDP header in hexadecimal format. The source port number is

(1) 52100

(2) 13

(3) 28

(4) 52000
Options :

42558919388. 1
42558919389. 2
42558919390. 3
42558919391. 4

Question Number : 85 Question Id : 4255894990 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The packet sent by a node to the source to inform it of congestion is called

(1) Explicit

(2) Backpressure
(3) Choke

(4) Retransmission

Options :

42558919392. 1
42558919393.2
42558919394. 3
42558919395. 4



Question Number : 85 Question Id : 4255894990 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The packet sent by a node to the source to inform it of congestion is called

(1) Explicit

(2) Backpressure
(3) Choke

(4) Retransmission

Options :

42558919392. 1
42558919393. 2
42558919394. 3
42558919395. 4

Question Number : 86 Question Id : 4255894991 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is not the characteristics of packet switching?

(1) Data is broken into packets
(2) Each packet may take a different route
(3) Requires a dedicated path
(4) Supports dynamic routing
Options :
42558919396. 1
42558919397. 2
42558919398. 3
42558919399. 4

Question Number : 86 Question Id : 4255894991 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is not the characteristics of packet switching?

(1) Data is broken into packets
(2) Each packet may take a different route
(3) Requires a dedicated path
(4) Supports dynamic routing
Options :
42558919396. 1
42558919397 2
42558919398. 3
42558919399. 4

Question Number : 87 Question Id : 4255894992 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the followings is not a valid property over two fuzzy relations R and S which must be obeyed
for performing A-cut defuzzifications?

1. (RUS), =R, US,

2. RnS$, =Rk nSs,

3 (ﬁ);L # R, except when A=1

4. ForanyA <B,where0<f <1,itistruethat Rg € R;

Options :

42558919400. 1
42558919401. 2
42558919402. 3
42558919403. 4



Question Number : 87 Question Id : 4255894992 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the followings is not a valid property over two fuzzy relations R and S which must be obeyed
for performing A-cut defuzzifications?

5 (ﬁUSM)A:ﬁAUgA
(ﬁﬂsm);\: ﬁlnS";L

woN e

k (ﬁ);L # R, except when A=1
4. ForanyA <B,where0<f <1,itistruethat Rg € R;

Options :

42558919400. 1
42558919401. 2
42558919402. 3
42558919403. 4

Question Number : 88 Question Id : 4255894993 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the followings is Not a parent selection technique used in genetic algorithm implementations
1. Radial

2. Tournament

3. Boltzmann

4. Rank
Options :
42558919404. 1
42558919405. 2
42558919406. 3
42558919407. 4

Question Number : 88 Question Id : 4255894993 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the followings is Not a parent selection technique used in genetic algorithm implementations
1. Radial

2. Tournament
3. Boltzmann
4. Rank
Options :
42558919404 1
42558919405. 2
42558919406. 3
42558919407. 4



Question Number : 89 Question Id : 4255894994 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Given that n refers to learning rate and x; refers to the i input to the neuron, Which of the followings
most suitably describes the weight updation rule of a Kohonen SOM? (where ‘j’ refers to the j" neuron
in the lattice)

1. wi(new) = (1- n)f*wileld) + n*x
2. wj(new) = n*wilold) + (1-n)*x;
3. wij(new) = (1-n)*wi(old) + xi
4. wi(new) = wy(old) + n*x;
Options :
42558919408. 1
42558919409. 2

42558919410. 3
42558919411. 4

Question Number : 89 Question Id : 4255894994 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Given that n refers to learning rate and x; refers to the i input to the neuron, Which of the followings
most suitably describes the weight updation rule of a Kohonen SOM? (where ‘j’ refers to the j" neuron
in the lattice)

1. wi(new) = (1- n)f*wileld) + n*x;
2. wj(new) = n*wilold) + (1-n)*x;
3. wi(new) = (1-n)*wilold) + xi
4. Wij (HEW} = Wji(Ol'd} + []*X',

Options :

42558919408. 1

42558919409. 2

42558919410. 3
42558919411. 4



Question Number : 90 Question Id : 4255894995 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Consider the following table defining the sample inputs and corresponding target values for a
perceptron model.

Sample No x1 %2 target wil w2
S1 0 0 0 0 0
S2 0 1 1
53 1 0 1
S4 1 1 1

What shall be the value of updated weights after applying all the samples 51 to 54 (in the order 51, S2,
S3, 54) to this model. Given that the initial weights w1=0, w2=0, learning rate =0.1 and no bias is
involved in the perceptron. The activation function for this perceptron is given below

1 ifyin>0

y_observed= {0 iF yii 2 0

1. wil=0.1, w2=0.1
2. wl=0.0, w2=0.2
3. wl=0.0, w2=0.1

4, wl=0.2, w2=0.2
Options :
42558919412. 1
42558919413. 2
42558919414. 3
42558919415. 4

Question Number : 90 Question Id : 4255894995 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Consider the following table defining the sample inputs and corresponding target values for a
perceptron model.

Sample No x1 %2 target wl w2
S1 0 0 0 0 0
S2 0 1 1
S3 1 0 1
S4 1 1 1

What shall be the value of updated weights after applying all the samples S1 to 54 (in the order S1, S2,
S3, 54) to this model. Given that the initial weights w1=0, w2=0, learning rate =0.1 and no bias is
involved in the perceptron. The activation function for this perceptron is given below

(1 ifym=>0
y_observed= {0 D

1. wil=0.1, w2=0.1
2. wil=0.0, w2=0.2
3. wl=0.0, w2=01

4. wil=0.2, w2=0.2
Options :
42558919412. 1
42558919413.2
42558919414. 3
42558919415. 4



Question Number : 91 Question Id : 4255894996 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
The computer needs to process each instruction with the following sequence of steps:

A. Calculate the effective address

B. Fetch the Instruction from memory

C. Decode the instruction

D. Fetch the operands from the memory

E. Execute the Instruction

Choose the correct answer from the options given below:

1.A,B,C,D,E
2.B,A,D,AE
3.B,C A DE
4.C,B,ADE
Options :
42558919416. 1
42558919417.2
42558919418. 3
42558919419. 4

Question Number : 91 Question Id : 4255894996 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
The computer needs to process each instruction with the following sequence of steps:

A. Calculate the effective address

B. Fetch the Instruction from memory

C. Decode the instruction

D. Fetch the operands from the memory

E. Execute the Instruction

Choose the correct answer from the options given below:

1.A,B,C,D,E
2.B,A,D,AE
3.B,C AD,E
4.C,B,ADE
Options :
42558919416. 1
42558919417.2
42558919418. 3
42558919419. 4



Question Number : 92 Question Id : 4255894997 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The right sequence of suboperations that are performed in arithmetic pipeline is-
A. Align the mantissas

B. Add or subtract the mantissas

C. Normalize the result

D. Compare the exponents

Choose the correct answer from the options given below:

1.D,A B, C
2.D,B,A,C
3.B,C,A,D
4.8,C,D,A
Options :
42558919420. 1
42558919421. 2
42558919422. 3
42558919423. 4

Question Number : 92 Question Id : 4255894997 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The right sequence of suboperations that are performed in arithmetic pipeline is-
A. Align the mantissas

B. Add or subtract the mantissas

C. Normalize the result

D. Compare the exponents

Choose the correct answer from the options given below:

1.D,A B,C
2.D,B,A,C
3.B,CAD
4.B,C,D,A
Options :
42558919420. 1
42558919421. 2
42558919422. 3
42558919423. 4



Question Number : 93 Question Id : 4255894998 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The right sequence of CPU program to input data will be :
A. Read status register

B. Check flag bit

C. Read Data Register

D. Transfer data to memory

Choose the correct answer from the options given below:

1.A,B,C,D
2.B,A,C,D
3.C,B,A,D
4.A,C, B, D
Options :
42558919424. 1
42558919425. 2
42558919426. 3
42558919427. 4

Question Number : 93 Question Id : 4255894998 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The right sequence of CPU program to input data will be :
A. Read status register

B. Check flag bit

C. Read Data Register

D. Transfer data to memory

Choose the correct answer from the options given below:

1.A,B,C,D
2.8, A,C,D
3.C,B,A, D
4.A,C,B,D
Options :
42558919424. 1
42558919425. 2
42558919426. 3
42558919427. 4



Question Number : 94 Question Id : 4255894999 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Consider the operators used in C Programming given below:
A &&

B. +=

C. >

D. >=

E. ?:

Choose among the following the correct order of precedence of the operators given above (higher to
lower):

1.C,D,E,B A
2.C,ADEB
3.C,D,AE, B
4.D,C, A B, E
Options :
42558919428. 1
42558919429.2
42558919430. 3
42558919431. 4

Question Number : 94 Question Id : 4255894999 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Consider the operators used in C Programming given below:
A &&

B. +=

C. >

D. >=

E. ?:

Choose among the following the correct order of precedence of the operators given above (higher to
lower):

1.C,D,E,B A
2.C,ADEB
3.C,D,AE, B
4.D,C, A B, E
Options :
42558919428. 1
42558919429.2
42558919430. 3
42558919431. 4



Question Number : 95 Question Id : 4255895000 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Consider the following interrupt protection levels in Linux, and arrange them in the increasing order of
their priorities.

A. User-Mode Programs (Preemptible)

B. Bottom Half Interrupt Handlers

C. Top Half Interrupt Handlers

D. Kernel System Service Routines (Preemptible)
Choose the correct answer from the options given below:

1.B=>A—=>C—>D
2C>B—>A->D
3.3.C>A—>B—>D
4 A2>D=>B=>C
Options :
42558919432. 1
42558919433.2
42558919434. 3
42558919435. 4

Question Number : 95 Question Id : 4255895000 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Consider the following interrupt protection levels in Linux, and arrange them in the increasing order of
their priorities.

A. User-Mode Programs (Preemptible)

B. Bottom Half Interrupt Handlers

C. Top Half Interrupt Handlers

D. Kernel System Service Routines (Preemptible)
Choose the correct answer from the options given below:

1.B=>A—=>C—>D
2C>B=>A—>D
3.C2>A=>B=>D
4. A>D—>B=>C
Options :
42558919432. 1
42558919433. 2
42558919434.3
42558919435. 4



Question Number : 96 Question Id : 4255895001 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the followings shows the correct hierarchy of a layered file system in an operating system

A. Logical File System

B. File Organization Module

C. Basic File System

D. |/0 Control

E. Application Programs

Choose the correct answer from the options given below:

1A=>B>D—>C—>E
2D2E=2C—>A—>B
3E2A=>B—>C—>D
4E2C>B—>A—>D
Options :
42558919436. 1
42558919437.2
42558919438. 3
42558919439. 4

Question Number : 96 Question Id : 4255895001 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the followings shows the correct hierarchy of a layered file system in an operating system

=

. Logical File System

File Organization Module

2]

Basic File System

o

I/O Control

m

Application Programs
Choose the correct answer from the options given below:

1.A>B>D—=>C—>E
2D2E>C>A—>8B
33E2A=>B=>C—>D
4E=2>C=>B=>A=>D
Options :
42558919436. 1
42558919437.2
42558919438. 3
42558919439. 4



Question Number : 97 Question Id : 4255895002 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following in the increasing order of coupling from lowest coupling to highest coupling.
A. Common Coupling

B. Stamp Coupling

C. Control Coupling

D. External Coupling

E. Content Coupling

Choose the correct answer from the options given below:

1.E,ACB,D
2.D,B,AEC
3.B,C,D,A,E
4.C,A,B,D,E
Options :
42558919440. 1
42558919441. 2
42558919442. 3
42558919443. 4

Question Number : 97 Question Id : 4255895002 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following in the increasing order of coupling from lowest coupling to highest coupling.
A. Common Coupling

B. Stamp Coupling

C. Control Coupling

D. External Coupling

E. Content Coupling

Choose the correct answer from the options given below:

1.E,ACB,D
2.D,B,AEC
3.B,CD,A,E
4.C,A,B,D,E
Options :
42558919440. 1
42558919441. 2
42558919442. 3
42558919443. 4



Question Number : 98 Question Id : 4255895003 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following types of testing in the order they are usually performed in the software Development
life cycle.

A. Integration testing

B. Unit testing

C. System Testing

D. Acceptance Testing

Choose the correct answer from the options given below:

1.B,C,A D
2.B,ACD
3.C,B,AD
4.C,B,D,A
Options :
42558919444. 1
42558919445.2
42558919446. 3
42558919447. 4

Question Number : 98 Question Id : 4255895003 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following types of testing in the order they are usually performed in the software Development
life cycle.

A. Integration testing

B. Unit testing

C. System Testing

D. Acceptance Testing

Choose the correct answer from the options given below:

1.8,C,A D
2.B,ACD
308 4D
4.C,B,D,A
Options :
42558919444. 1
42558919445. 2
42558919446. 3
42558919447. 4



Question Number : 99 Question Id : 4255895004 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The correct sequence of constructing Huffman tree is
A. Repeat until root formed

B. Create leaf nodes

C. Build priority queue

D. Combine lowest frequency nodes

Choose the correct answer from the options given below:

1.B,C A D
2.D,B,A,C
3.B,C,D,A
4.C,A,B,D
Options :
42558919448. 1
42558919449. 2

42558919450. 3
42558919451. 4

Question Number : 99 Question Id : 4255895004 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The correct sequence of constructing Huffman tree is
A. Repeat until root formed

B. Create leaf nodes

C. Build priority queue

D. Combine lowest frequency nodes

Choose the correct answer from the options given below:

1.B,C A, D
2.D0,B,A,C
3.B,C,D,A
4.C,A,B,D
Options :
42558919448. 1
42558919449. 2
42558919450. 3
42558919451. 4



Question Number : 100 Question Id : 4255895005 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

When developing a dynamic programming algorithm, the sequence of steps followed is:

A. Construct an optimal solution from computed information.

B. Recursively define the value of an optimal solution.

C. Characterize the structure of an optimal solution.

D. Compute the value of an optimal solution, typically in a bottom-up fashion.
Choose the correct answer from the options given below:

1.B,C A D
2.B,A,C,D
3.C,B,A,D
4.C,B,D,A
Options :
42558919452. 1
42558919453. 2
42558919454.3
42558919455. 4

Question Number : 100 Question Id : 4255895005 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

When developing a dynamic programming algorithm, the sequence of steps followed is:

A. Construct an optimal solution from computed information.

B. Recursively define the value of an optimal solution.

C. Characterize the structure of an optimal solution.

D. Compute the value of an optimal solution, typically in a bottom-up fashion.
Choose the correct answer from the options given below:

1.B,CA,D
2.B,A,C,D
3.C,B,A, D
4.C,B,D,A
Options :
42558919452. 1
42558919453.2
42558919454. 3
42558919455. 4



Question Number : 101 Question Id : 4255895006 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following parsers in increasing order of their power of handling grammars i.e. from the
least powerful parser to the most powerful parser.

A. LR(0)

B. LR(1)

C. LALR(1)

D. LL(0)

E. SLR

Choose the correct answer from the options given below:
1. LL{0) > LR(0)—> SLR—>LR(1)—> LALR(1)

2. SLR—>LR(0)=>LL{0)—=>LR(1)>LALR(1)

3. LL(0)=>LR(0)—=>SLR—=>LALR(1)—>LR(1)

4. LR(0)—=>LL(0)—=>SLR =LR(1)—>LALR(1)

Options :

42558919456. 1
42558919457. 2
42558919458. 3
42558919459. 4

Question Number : 101 Question Id : 4255895006 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following parsers in increasing order of their power of handling grammars i.e. from the
least powerful parser to the most powerful parser.

A. LR(0)

B. LR(1)

C. LALR(1)

D. LL(O)

E. SLR

Choose the correct answer from the options given below:
1. LL{0) > LR(0)—> SLR—>LR(1)—> LALR(1})

2. SLR—=>LR(0)=>LL(0)=>LR(1)>LALR(1)

3. LL(0)=>LR(0)=>SLR=>LALR(1)=>LR(1)

4. LR(0)>LL(0)>SLR =LR(1)=>LALR(1)
Options :
42558919456. 1
42558919457. 2
42558919458. 3
42558919459. 4



Question Number : 102 Question Id : 4255895007 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the steps involved when a user enters a URL in a browser and accesses a website.

A. DNS resolution

B. HTTP request sent

C. URL entered in the browser

D. IP address obtained

E. Webpage displayed

Choose the correct answer from the options given below:

1.8, A, C.ED
2.C,B,AED
3.B,C,D,AE
4.C, A DB, E
Options :
42558919460. 1
42558919461.2
42558919462. 3
42558919463. 4

Question Number : 102 Question Id : 4255895007 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the steps involved when a user enters a URL in a browser and accesses a website.

A. DNS resolution

B. HTTP request sent

C. URL entered in the browser

D. IP address obtained

E. Webpage displayed

Choose the correct answer from the options given below:

1.B,A,C,E,D
2.C,B,AE,D
3.B,C,D,AE
4.C,A D,B,E
Options :
42558919460. 1
42558919461. 2
42558919462. 3
42558919463. 4



Question Number : 103 Question Id : 4255895008 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the process of virtualization in cloud environments.

A. Hypervisor installed on physical server

B. Virtual machines created

C. Resources allocated to Virtual machines

D. Virtual machines run isolated workloads

Choose the correct answer from the options given below:

1.B,C A D
2.A,B,C,D
3.A,C,B,D
4.8,C,D,A
Options :
42558919464. 1
42558919465. 2
42558919466. 3
42558919467. 4

Question Number : 103 Question Id : 4255895008 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the process of virtualization in cloud environments.

A. Hypervisor installed on physical server

B. Virtual machines created

C. Resources allocated to Virtual machines

D. Virtual machines run isolated workloads

Choose the correct answer from the options given below:

1.B,CA,D
2.A,B,C,D
3.A,C,B,D
4.8B,CD,A
Options :
42558919464. 1
42558919465.2
42558919466. 3
42558919467. 4



Question Number : 104 Question Id : 4255895009 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Consider the following steps used by a knowledge base designer to represent a world
A. Selects atoms to represent propositions

B. Ask questions about intended interpretation

C. Choose a task domain

D. Axiomatizing the domain

Choose the correct answer from the options given below:

1.C>A—>D—>8B
2C=>A—=>B=>D
3B=>C—>A-=>D
4A=>C—>B—=>D
Options :
42558919468. 1
42558919469. 2
42558919470. 3
42558919471. 4

Question Number : 104 Question Id : 4255895009 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Consider the following steps used by a knowledge base designer to represent a world
A. Selects atoms to represent propositions

B. Ask questions about intended interpretation

C. Choose a task domain

D. Axiomatizing the domain

Choose the correct answer from the options given below:

1.C>A—>D=>8B
2C>A—>B-=>D
3B=>C—=>A-=>D
4A=>C=>B=>D
Options :
42558919468. 1
42558919469. 2
42558919470. 3
42558919471. 4



Question Number : 105 Question Id : 4255895010 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Consider the following steps involved in the application of Genetic algorithm for a problem

A. Select a pair of parents from the population

B. Apply mutation at each locus with probability pm

C. Calculate fitness of each member of the population

D. Apply crossover with probability p. to form offsprings

Choose the correct answer from the options given below describing the correct order of the above steps:

1.A>C—>B—>D
2C>A—>D=>B
3.C>A—>B->D
4A=>D=>B=>C
Options :
42558919472. 1
42558919473. 2
42558919474.3
42558919475. 4

Question Number : 105 Question Id : 4255895010 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Consider the following steps involved in the application of Genetic algorithm for a problem

A. Select a pair of parents from the population

B. Apply mutation at each locus with probability p.

C. Calculate fitness of each member of the population

D. Apply crossover with probability p. to form offsprings

Choose the correct answer from the options given below describing the correct order of the above steps:

1.A=>C—>B=>D
2.C>A—>D—>8B
3.C>A—>B-=>D
4 A=>D=>B=>C
Options :
42558919472. 1
42558919473. 2
42558919474. 3
42558919475. 4



Question Number : 106 Question Id : 4255895011 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Let P denote “She is intelligent” and let Q denote “She is happy.”

Given below are the statements:

(a) If She is intelligent, then She is unhappy.

(b) She is neither intelligent nor happy.

(c) It is necessary to be not intelligent in order to be happy.

(d) To be not intelligent is to be unhappy.

Which of the following is correct Propositional expression for the above statements:
(1) P>-Q; (b) P A-Q; (c) Q>-P; (d) P > -Q

(2) P>Q; (b)-P A-Q; (c) ~Q->P; (d)-P > -Q

(3) P>-Q; (b)-P A-Q; (c) Q>-P; (d) =P > -Q

(4) P>-Q; (b) P A-Q; (c) Q>P; (d)-P = -Q
Options :
42558919476. 1
42558919477. 2
42558919478. 3
42558919479. 4

Question Number : 106 Question Id : 4255895011 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Let P denote “She is intelligent” and let Q denote “She is happy.”

Given below are the statements:

(a) If She is intelligent, then She is unhappy.

(b) She is neither intelligent nor happy.

(c) It is necessary to be not intelligent in order to be happy.

(d) To be not intelligent is to be unhappy.

Which of the following is correct Propositional expression for the above statements:
(1) P>-Q; (b) P A-Q; (c) Q>-P; (d) P > -Q

(2) P>Q; (b)-P A-Q; (c) ~Q>P; (d)-P > -Q

(3) P>-Q; (b)-P A-Q; (c) Q>-P; (d) =P > -Q

(4) P>-Q; (b) P A-Q; (c) Q>P; (d)-P = -Q
Options :

42558919476. 1

42558919477.2

42558919478. 3

42558919479. 4



Question Number : 107 Question Id : 4255895012 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Let m and n are positive integers. Then

(A) fn#1, thenm<mn.

(B) If k is composite, then k= mn wherel<m,n>k
(C) ¥mn=1,thenm=1andn=1,

(D) If k is composite, then k = mn where 1< m,n <k

Which of the following is correct:

(1) (A), (C), (D)
(2) (B), (C), (D)
(3) (A), (B)
(4) (A), (B), (C)
Options :
42558919480. 1
42558919481. 2
42558919482. 3
42558919483. 4

Question Number : 107 Question Id : 4255895012 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Let m and n are positive integers. Then

(A) fn#1, thenm<mn.

(B) If k is composite, thenk=mnwherel<m,n>k
(C) ¥mn=1,thenm=1andn=1.

(D) If k is composite, then k = mn where 1<m,n <k

Which of the following is correct:

(1) (A), (€), (D)
(2) (B), (C), (D)
(3) (A), (B)
(4) (A), (B), (C)
Options :
42558919480. 1
42558919481. 2
42558919482. 3
42558919483. 4



Question Number : 108 Question Id : 4255895013 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true ?
A. In the write-through policy, only the cache is updated

B. In the write-back policy, both cache and main memory are updated

C. Cache coherence problems exist in multiprocessars with private caches because of the need to
share writable data

D. Cache coherence problem can be solved by means of hardware-only scheme

Choose the correct answer from the options given below:

A, B Only

B, C Only

C, D Only
4, A,B,COnly

o i

Options :

42558919484. 1
42558919485. 2
42558919486. 3
42558919487. 4

Question Number : 108 Question Id : 4255895013 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true ?
A_ In the write-through policy, only the cache is updated

B. In the write-back policy, both cache and main memory are updated

C. Cache coherence problems exist in multiprocessors with private caches because of the need to
share writable data

D. Cache coherence problem can be solved by means of hardware-only scheme

Choose the correct answer from the options given below:

A, B Only

B, C Only

C, D Only
4. A,B,COnly

B

Options :

42558919484. 1
42558919485. 2
42558919486. 3
42558919487. 4



Question Number : 109 Question Id : 4255895014 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following gates do not give output 1 when both the inputs are 0-

A. NAND gate
B. NOR gate
C. X-ORgate
D. X-NOR gate

Choose the correct answer from the options given below:

A, B Only
B, C Only
C,D Only
C Only

B W N

Options :

42558919488. 1
42558919489. 2
42558919490. 3
42558919491. 4

Question Number : 109 Question Id : 4255895014 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following gates do not give output 1 when both the inputs are 0-

A. NAND gate
B. NOR gate
C. X-ORgate
D. X-NOR gate

Choose the correct answer from the options given below:

A, B Only
B, C Only
C,D Only
4. COnly
Options :
42558919488. 1
42558919489. 2
42558919490. 3
42558919491. 4

W N =



Question Number : 110 Question Id : 4255895015 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Consider the following statements for XML (Extensible Markup Language) :
A. The number of tags decreases and users can define their own tags.

B. Its is used for Presentation.

C. Itis case sensitive.

D. It is dynamic.

Which of the above statements are true ?

B, C, D Only
A, B, D Only
A, C, DOnly
4. B, DOnly

N

Options :

42558919492. 1
42558919493.2
42558919494. 3
42558919495. 4

Question Number : 110 Question Id : 4255895015 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Consider the following statements for XML (Extensible Markup Language) :
A. The number of tags decreases and users can define their own tags.

B. Its is used for Presentation.

C. It is case sensitive.

D. Itis dynamic.

Which of the above statements are true ?

B, C, D Only
A, B, D Only
A, C,DOnly
4. B, DOnly

o

Options :

42558919492. 1
42558919493. 2
42558919494. 3
42558919495. 4



Question Number : 111 Question Id : 4255895016 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Only legal pointer operations:

A. pointer + number = pointer

B. pointer - number < number
C. pointer + pointer = pointer
D. pointer - pointer = pointer
E. pointer — pointer = number

Choose the most appropriate answer from the options given below:

A, B, C Only
A, B, D Only
A, B Only

4. A, EOnly
Options :
42558919496. 1
42558919497.2
42558919498. 3
42558919499. 4

e

Question Number : 111 Question Id : 4255895016 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Only legal pointer operations:

A. pointer + number =» pointer

B. pointer — number = number
C. pointer + pointer = pointer
D. pointer - pointer <> pointer
E. pointer — pointer = number

Choose the most appropriate answer from the options given below:

A, B, C Only
A, B, D Only
A, B Only

4. A, EOnly
Options :
42558919496. 1
42558919497. 2
42558919498 3
42558919499. 4

o M A



Question Number : 112 Question Id : 4255895017 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Once the process is allocated CPU and executing which of the following events could not occur?

A.The process could issue an |/O request and then be placed in the Ready Queue
B. The process could create new subprocesses & wait for the termination of the subprocesses
C. The time slice of the process expires and it may join the waiting queue

D. The process is forcibly removed from the CPU and is put in the Waiting queue due
to arrival of an interrupt
Choose the correct answer from the options given below:

1. BOnly

2. DOnly

3. AandC Only

4. A CandDOnly
Options :
42558919500. 1
42558919501. 2

42558919502. 3
42558919503. 4

Question Number : 112 Question Id : 4255895017 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Once the process is allocated CPU and executing which of the following events could not occur?

A.The process could issue an |/O request and then be placed in the Ready Queue
B. The process could create new subprocesses & wait for the termination of the subprocesses
C. The time slice of the process expires and it may join the waiting queue

D. The process is forcibly removed from the CPU and is put in the Waiting queue due
to arrival of an interrupt
Choose the correct answer from the options given below:

1. BOnly

2. DOnly

3. AandCOnly

4. A CandDOnly
Options :
42558919500. 1
42558919501. 2

42558919502. 3
42558919503. 4



Question Number : 113 Question Id : 4255895018 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the correct statement(s) from the followings with respect to Spinlock Semaphaores
A. The name refers to busy waiting semaphores.

B. They are not useful when the locks are to be held for a short duration of time.
C. It may require multiple context switches when a process waits on a lock.

D. They are often employed on Uniprocessor systems.
Choose the correct answer from the options given below:

1. AOnly

2. DOnly

3. B,DOnly

4. A CandDOnly
Options :
42558919504. 1
42558919505. 2

42558919506. 3
42558919507. 4

Question Number : 113 Question Id : 4255895018 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the correct statement(s) from the followings with respect to Spinlock Semaphores
A. The name refers to busy waiting semaphores.

B. They are not useful when the locks are to be held for a short duration of time.
C. It may require multiple context switches when a process waits on a lock.

D. They are often employed on Uniprocessor systems.
Choose the correct answer from the options given below:

1. AOnly

2. DOnly

3. B, DOnly

4. A, CandDOnly
Options :
42558919504. 1
42558919505. 2

42558919506. 3
42558919507. 4



Question Number : 114 Question Id : 4255895019 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following cohesions are better than the Procedural Cohesion
A. Functional Cohesion

B. Sequential Cohesion

C. Temporal Cohesion

D. Communicational Cohesion

E. Logical Cohesion
Choose the correct answer from the options given below:

A and D Only

A, B and D Only
C, D and E Only
4, A,DandEOnly

o N

Options :

42558919508. 1
42558919509. 2
42558919510. 3
42558919511. 4

Question Number : 114 Question Id : 4255895019 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following cohesions are better than the Procedural Cohesion
A. Functional Cohesion

B. Sequential Cohesion

C. Temporal Cohesion

D. Communicational Cohesion

E. Logical Cohesion
Choose the correct answer from the options given below:

A and D Only

A, B and D Only
C, D and E Only
4, A,DandEOnly

N

Options :

42558919508. 1
42558919509. 2
42558919510. 3
42558919511. 4



Question Number : 115 Question Id : 4255895020 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the followings belongs to MaCall’s quality factors?

A. Maintainability
B. Usability
C. Integrity

D. Functionality
Choose the correct answer from the options given below:

A and D Only
A, B and D Only
C and D Only
4, A,Band COnly

o i

Options :

42558919512. 1
42558919513. 2
42558919514. 3
42558919515. 4

Question Number : 115 Question Id : 4255895020 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the followings belongs to MaCall’s quality factors?
A. Maintainability

B. Usability
C. Integrity

D. Functionality
Choose the correct answer from the options given below:

A and D Only
A, B and D Only
C and D Only
4. A,Band COnly

B

Options :

42558919512 1
42558919513.2
42558919514. 3
42558919515. 4



Question Number : 116 Question Id : 4255895021 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following algorithms use Greedy strategy?
A. Dijkstra’s algorithm

B. Kruskal’s algorithm

C. Huffman coding

D. Bellman-Ford algorithm
Choose the correct answer from the options given below:

A, B and D Only
A, B and C Only
C and D Only
4, AandD Only

ol B

Options :

42558919516. 1
42558919517. 2
42558919518. 3
42558919519. 4

Question Number : 116 Question Id : 4255895021 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following algorithms use Greedy strategy?
A. Dijkstra’s algorithm

B. Kruskal's algorithm

C. Huffman coding

D. Bellman-Ford algorithm
Choose the correct answer from the options given below:

A, B and D Only
A, B and C Only
C and D Only
4. AandD Only

WoN e

Options :

42558919516. 1
42558919517.2
42558919518. 3
42558919519. 4



Question Number : 117 Question Id : 4255895022 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following trees are height balanced?
A. Binary Search Tree

B. AVLTree

C. Red-Black Tree

D. B Tree
Choose the correct answer from the options given below:

A and D Only
A, B and D Only
C and D Only
4. BandCOnly

il B

Options :

42558919520. 1
42558919521. 2
42558919522.3
42558919523. 4

Question Number : 117 Question Id : 4255895022 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following trees are height balanced?
A. Binary Search Tree

B. AVLTree

C. Red-Black Tree

D. B Tree
Choose the correct answer from the options given below:

A and D Only
A, B and D Only
C and D Only
4. BandCOnly

I B

Options :

42558919520. 1
42558919521.2
42558919522. 3
42558919523. 4



Question Number : 118 Question Id : 4255895023 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are controlled-access protocols
A. Reservation

B. Polling

C. TDMA

D. Token Passing

E. CSMA/CA
Choose the correct answer from the options given below:

1. AandD Only
2. A ,BandDOnly
3. C,DandE Only
4. A, DandEOnly
Options :
42558919524. 1
42558919525. 2

42558919526. 3
42558919527. 4

Question Number : 118 Question Id : 4255895023 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are controlled-access protocols
A. Reservation

B. Polling

C. TDMA

D. Token Passing

E. CSMA/CA
Choose the correct answer from the options given below:

1. AandD Only
2. A ,BandDOnly
3. C DandEOnly
4. A, DandEOnly
Options :
42558919524. 1

42558919525. 2
42558919526. 3
42558919527. 4



Question Number : 119 Question Id : 4255895024 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are examples of data encoding schemes?
A. Non-Return to Zero (NRZ)

B. Manchester Encoding

C. Amplitude Modulation

D. Hamming code

E. Bipolar AMI
Choose the correct answer from the options given below:

A, C and D Only
A, B and D Only
C, D and E Only
4. A,BandEOnly

b Db

Options :

42558919528. 1
42558919529.2
42558919530. 3
42558919531. 4

Question Number : 119 Question Id : 4255895024 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are examples of data encoding schemes?
A. Non-Return to Zero (NRZ)

B. Manchester Encoding

C. Amplitude Modulation

D. Hamming code

E. Bipolar AMI
Choose the correct answer from the options given below:

1. A,CandD Only
2. A,BandDOnly
3. C,DandE Only
4. A,BandEOnly
Options :
42558919528. 1

42558919529. 2
42558919530. 3
42558919531. 4



Question Number : 120 Question Id : 4255895025 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Consider the following statements regarding Agent systems
A. Agent system comprises of an agent and an environment on which it acts

B. The controller part of an agent receives percepts from its body and sends commands to the
environment

C. Agents act in the world through actuators which are non-noisy and always reliable.

D. The actuators of an agent convert stimuli into percepts

Choose the correct answer from the options given below:

A, B Only
B, D Only
C, D Only
4. B,C,DOnly

o i o

Options :

42558919532. 1
42558919533.2
42558919534. 3
42558919535. 4

Question Number : 120 Question Id : 4255895025 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Consider the following statements regarding Agent systems
A. Agent system comprises of an agent and an environment on which it acts

B. The controller part of an agent receives percepts from its body and sends commands to the
environment

C. Agents act in the world through actuators which are non-noisy and always reliable.

D. The actuators of an agent convert stimuli into percepts

Choose the correct answer from the options given below:

A, B Only
B, D Only
C, D Only
4. B,C,DOnly

o i

Options :

42558919532. 1
42558919533.2
42558919534. 3
42558919535. 4



Question Number : 121 Question Id : 4255895026 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Consider the following statements regarding STRIPS representation of a Planning problem
A. STRIPS is a Feature-centric representation

B. The features describing state of the world are divided into Primitive and Derived

C. The STRIPS representation of the action comprises of Precondition and Effect

D. STRIPS can directly define conditional effects.

Choose the correct answer from the options given below:

1. A, COnly

2. B,COnly

3. A,DOnly

4. B,C, DOnly
Options :

42558919536. 1
42558919537. 2
42558919538. 3
42558919539. 4

Question Number : 121 Question Id : 4255895026 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Consider the following statements regarding STRIPS representation of a Planning problem
A. STRIPS is a Feature-centric representation

B. The features describing state of the world are divided into Primitive and Derived

C. The STRIPS representation of the action comprises of Precondition and Effect

D. STRIPS can directly define conditional effects.

Choose the correct answer from the options given below:

1. A, COnly

2. B,COnly

3. A,DOnly

4. B,C, DOnly
Options :

42558919536. 1
42558919537. 2
42558919538. 3
42558919539. 4



Question Number : 122 Question Id : 4255895027 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following Grammars is/are only Context Free?

A S > Ab B |S—=>Ab
aS—> aA A —>Sa
A =22 A=>a
Cc S = AS D S—=>Ab
S=>aA S = aA
A=a A=>a
E S—=>5Sh
A= Aa
A—=E

Choose the correct answer from the options given below:

A, B Only
C, DOnly
C, EOnly
4. A,B,D,EOnly

Wk

Options :

42558919540. 1
42558919541. 2
42558919542. 3
42558919543. 4

Question Number : 122 Question Id : 4255895027 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following Grammars is/are only Context Free?

A S > Ab B |S—=>Ab
aS—> aA A—>Sa
A —>a A—>a
o S—=>AS D |S—=>Ab
S =2 aA S = aA
A—=>a A—>a
E S—=>5Shb
A= Aa
A=«

Choose the correct answer from the options given below:

1. A BOnly
2. C, DOnly
3. C EOnly

4. A,B,D,EOnly

Options :

42558919540. 1
42558919541. 2
42558919542. 3
42558919543. 4



Question Number : 123 Question Id : 4255895028 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements is/are TRUE about encryptions techniques?

A. In symmetric key cryptography, the secrecy/protection of the key generating function must be of
higher level than the decrypting function.

B. The DES technique works by taking 64 bit chunk value and 56 bit key over a series of
transformations.

C. The Twofish symmetric block algorithm works on variable key length of upto 196 bits over a block
of 128 bits.

D. RCa is the most commonly used stream cipher that encrypts & decrypts a stream of bits/bytes
instead of blocks.
Choose the correct answer from the options given below:

1. B,COnly

2. A DOnly

3. A COnly

4. B,CandD Only
Options :

42558919544. 1
42558919545. 2
42558919546. 3
42558919547. 4

Question Number : 123 Question Id : 4255895028 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements is/are TRUE about encryptions techniques?

A. In symmetric key cryptography, the secrecy/protection of the key generating function must be of
higher level than the decrypting function.

B. The DES technique works by taking 64 bit chunk value and 56 bit key over a series of
transformations.

C. The Twofish symmetric block algorithm works on variable key length of upto 196 bits over a block
of 128 bits.

D. RCa is the most commonly used stream cipher that encrypts & decrypts a stream of bits/bytes
instead of blocks.
Choose the correct answer from the options given below:

1. B, COnly

2. A DOnly

3. A COnly

4. B,CandD Only
Options :

42558919544. 1
42558919545. 2
42558919546. 3
42558919547. 4



Question Number : 124 Question Id : 4255895029 Question Type : MCQ Option Shuffling : No Display Question Number
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Considering the following statements:

A. Data transformation is involved in Datamining process.

B. Online database is used in Data warehouse.

C. Classification is a measure of accuracy.

D. K-means clustering algorithm is based on the concept of minimizing the within-cluster variance.

E. Pattern evaluation is a process to identify knowledge based on interestingness measure.
Choose the correct answer from the options given below:

1. B, C, E Only

2. B, D, E Only

3. A, C, E Only

4, A, C, D Only
Options :

42558919548. 1
42558919549. 2
42558919550. 3
42558919551. 4

Question Number : 124 Question Id : 4255895029 Question Type : MCQ Option Shuffling : No Display Question Number
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Considering the following statements:

A. Data transformation is involved in Datamining process.

m

. Online database is used in Data warehouse.

C. Classification is a measure of accuracy.

D. K-means clustering algorithm is based on the concept of minimizing the within-cluster variance.

E. Pattern evaluation is a process to identify knowledge based on interestingness measure.
Choose the correct answer from the options given below:

B, C, E Only
B, D, E Only
A A, C, EOnly
4, A, C, D Only

W N

Options :

42558919548. 1
42558919549. 2
42558919550. 3
42558919551. 4

: Yes Is Question

: Yes Is Question



Question Number : 125 Question Id : 4255895030 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Considering the following statements:

A. A non-serial scheduleis said to be conflict serializable, if it is conflict-equivalent to some serial
schedule.

B. A non-serial schedule is said to be view serializable if it is view-equivalent to some serial schedule.

C. A schedule is said to be serial, if instructions of participating transactions are chronologically
interleaved with each other.

D. A conflict-serializable schedule will be view-serializable also but vice-versa may not be true.

Choose the correct answer from the options given below:

1. AB,C,D

2. A B, COnly

3. A,B,DOnly

4. B,C,DOnly
Options :
42558919552. 1
42558919553.2
42558919554. 3
42558919555. 4

Question Number : 125 Question Id : 4255895030 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Considering the following statements:

A. A non-serial schedule is said to be conflict serializable, if it is conflict-equivalent to some serial
schedule.

B. A non-serial schedule is said to be view serializable if it is view-equivalent to some serial schedule.

C. Aschedule is said to be serial, if instructions of participating transactions are chronologically
interleaved with each other.

D. A conflict-serializable schedule will be view-serializable also but vice-versa may not be true.

Choose the correct answer from the options given below:

AB,C,D

A, B, C Only
A, B, D Only
4. B,C,DOnly

Uil i

Options :

42558919552. 1
42558919553.2
42558919554. 3
42558919555. 4



Question Number : 126 Question Id : 4255895031 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List | with List Il

List I List Il
A. If the Indian team wins, then it is raining l. Inverse

B. If the Indian team does not win, then it is not raining | Il. Converse

C. If it is raining, then the Indian team wins l1l. Contrapositive

D. If it is not raining, then the Indian team does not win | IV. Conditional

Choose the correct answer from the options given below:
1. A-ll,B-l, G-IV, D-lII
2. AL, B, C-1I, DIV
3. A-l, B-ll, C-IV, D-I

4. A-lI, B, C-1V, D-1
Options :

42558919556. 1
42558919557. 2
42558919558. 3
42558919559. 4



Question Number : 126 Question Id : 4255895031 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List | with List Il

List I List Il
A. If the Indian team wins, then it is raining l. Inverse

B. If the Indian team does not win, then it is not raining | Il. Converse

C. If it is raining, then the Indian team wins l1l. Contrapositive

D. If it is not raining, then the Indian team does not win | IV. Conditional

Choose the correct answer from the options given below:
1. A-ll,B-l, G-IV, D-lII
2. AL, B, C-1I, DIV
3. A-l, B-ll, C-IV, D-I

4. A-lI, B, C-1V, D-1
Options :

42558919556. 1
42558919557. 2
42558919558. 3
42558919559. 4



Question Number : 127 Question Id : 4255895032 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List | with List Il
List | List 1l
A.Type 3 Grammar . V= (VUOZ3)*
B. Type 2 Grammar II. AV > MV U3)*B , where (AB)e(V U 3)*
C.Type 1 Grammar . (VU 3)* > (VU 3)*
D. Type O Grammar V. VVSIS

Choose the correct answer from the options given below:
1. A=, B1I, C21V, DI
2. A, B>, C>1V, DI
3.  A=2IV,B=2|,C=21, D>l

4. A->Il, B>, C>1, D3IV
Options :
42558919560. 1
42558919561. 2
42558919562. 3
42558919563. 4

Question Number : 127 Question Id : 4255895032 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List | with List 11

List 1 List Il
A. Type 3 Grammar . V= (VUZ3)*
B. Type 2 Grammar II. AV => AV UZ)*B , where (AB)e(V U 3)*
C.Type 1 Grammar . (VUS)* > (VU 5)*
D. Type O Grammar V. VV3IS

Choose the correct answer from the options given below:
1. A=, B>, C=>1V, D>
2. A=, B>, C=>IV, D21
3.  A=2IV,B=21,C21, D>

4. A=>II, B>, C>1, D>V
Options :
42558919560. 1
42558919561.2
42558919562. 3
42558919563. 4



Question Number : 128 Question Id : 4255895033 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List | with List Il

List | List Il
A. Address Space I. Associative Mapping
B. Memory Space Il. Logical address
C. Cache Memory I1l. physical address
D. Segmented Program | IV. Virtual address

Choose the correct answer from the options given below:
1. A-lV, B-lll, C-, D-lI
2. A, B, C-IV, D-NI
3. AL, B-IV, C-, D-II

4.  A-ll, B-v, C-I, D1l
Options :
42558919564. 1
42558919565. 2
42558919566. 3
42558919567. 4

Question Number : 128 Question Id : 4255895033 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List | with List Il

List I List 1l
A. Address Space I. Associative Mapping
B. Memory Space Il. Logical address
C. Cache Memory 11l. physical address
D. Segmented Program | IV. Virtual address

Choose the correct answer from the options given below:
1.  A-V, B-lll, C, D-Il
2. A, B CIV, DN
3. AL, BV, C-, D-lI

4.  A-ll, B-IV, C-l, D-1ll
Options :
42558919564. 1
42558919565.2
42558919566. 3
42558919567. 4



Question Number : 129 Question Id : 4255895034 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List | with List Il

List | List Il
A. Overloading I. Since function call is resolved during run time, the execution is Slow.

B. Early binding | Il. Since function call is resolved during compilation time, the execution is much faster.

C. Overriding 11l. Supports compile-time polymorphism.

D. Late Binding | IV. Supports run-time polymorphism.

Choose the correct answer from the options given below:
1. A-lL, B-ll, C-l, DIV
2. A-lV, B-l, C-liL, D-
3. A-ll, B, C-IV, D-II

4. A-IV, B, C-lll, D-II
Options :

42558919568. 1
42558919569. 2
42558919570. 3
42558919571. 4



Question Number : 129 Question Id : 4255895034 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List | with List Il

List | List Il
A. Overloading I. Since function call is resolved during run time, the execution is Slow.

B. Early binding | Il. Since function call is resolved during compilation time, the execution is much faster.

C. Overriding 11l. Supports compile-time polymorphism.

D. Late Binding | IV. Supports run-time polymorphism.

Choose the correct answer from the options given below:
1. A-lL, B-ll, C-l, DIV
2. A-V, B-I, C-lil, DA
3. A-ll, B, C-lv, D-lI

4. A-IV, B, C-lll, D-II
Options :

42558919568. 1
42558919569. 2
42558919570. 3
42558919571. 4



Question Number : 130 Question Id : 4255895035 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List | with List 11

List | List Il

A. Oblique Projection I. When the direction of projection is so chosen that the lines perpendicular to the plane of
projection are foreshortened.

B. Cavelier Projection Il. When the direction of projection is so chosen that there is no foreshortening of lines
perpendicular to the plane of projection.

C. Cabinet Projection lll. When the direction of projection is perpendicular to the plane of projection.

D. Orthographic Projection | IV. When the angle between the projectors and the plane of projection is not equal to 90°.

Choose the correct answer from the options given below:
1.  A-ll, B-ll, C-IV, D-l
2. AV, B-I, C-l, D-NNI
3.  A-ll, B-l, C-Iv, D-lI

4. A-IV, B-l, C-lll, D-lI
Options :

42558919572. 1
42558919573. 2
42558919574.3
42558919575. 4



Question Number : 130 Question Id : 4255895035 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List | with List 11

List | List Il

A. Oblique Projection I. When the direction of projection is so chosen that the lines perpendicular to the plane of
projection are foreshortened.

B. Cavelier Projection Il. When the direction of projection is so chosen that there is no foreshortening of lines
perpendicular to the plane of projection.

C. Cabinet Projection lll. When the direction of projection is perpendicular to the plane of projection.

D. Orthographic Projection | IV. When the angle between the projectors and the plane of projection is not equal to 90°.

Choose the correct answer from the options given below:
1.  A-ll, B-ll, C-IV, D-l
2. AV, B-lI, C-l, D-lNI
3. A-lll, B-l, C-IV, D-lI

4. A-IV, B-l, C-lll, DI
Options :

42558919572. 1
42558919573. 2
42558919574.3
42558919575. 4



Question Number : 131 Question Id : 4255895036 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List | with List Il

List| List Il

A. Clustered Page Table I: Generally considered inappropriate for 64 bit architectures.

B. Hierarchical Page Table | . Has only entry for each real page (or frame) of memory.

C. Segmentation .  Useful for Sparse address spaces.

D. Inverted Page Table IV.  Supports a user view of the system.

Choose the correct answer from the options given below:
1.  A=211, B=21V,C21l, D21
2. A=, B2, C21V, D21
3. A=, B2, C=21, D21V

4.  A=>IV, B>, C=>11, D>

Options :

42558919576. 1
42558919577. 2
42558919578. 3
42558919579. 4



Question Number : 131 Question Id : 4255895036 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List | with List Il

List| List Il

A. Clustered Page Table I: Generally considered inappropriate for 64 bit architectures.

B. Hierarchical Page Table | 1. Has only entry for each real page (or frame) of memory.

C. Segmentation .  Useful for Sparse address spaces.

D. Inverted Page Table IV. Supports a user view of the system.

Choose the correct answer from the options given below:
1.  A=21, B=21V,C21l, D21
2. A=, B>, C21V, D2
3. A=, B2, C21, D21V

4.  A=>IV, B>, C=>I1l, D>

Options :

42558919576. 1
42558919577. 2
42558919578. 3
42558919579. 4



Question Number : 132 Question Id : 4255895037 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List | with List 11

List | List Il
A. RAID Level 2 I. Block interleaved distribution parity

B. RAID Level 3 Il. Also known as P+Q redundancy Scheme

C. RAID Level 5 11l. Bit interleaved parity

D. RAID Level 6 IV. Also known as Memory style error correcting code organization

Choose the correct answer from the options given below:
1. A1V, B>, C1, D>
2. A=, BV, C1, D201
3. A->l, B2, C>Iv, D>l

4. A=, B>V, C>1, D>
Options :
42558919580. 1
42558919581. 2
42558919582. 3
42558919583. 4

Question Number : 132 Question Id : 4255895037 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List | with List 1l

List | List Il
A. RAID Level 2 1. Block interleaved distribution parity

B. RAID Level 3 11. Also known as P+Q redundancy Scheme

C. RAID Level 5 11l. Bit interleaved parity

D. RAID Level 6 IV. Also known as Memory style error correcting code organization

Choose the correct answer from the options given below:
1. A=>IV,B=>11,C=>1,D=>11
2. A=, B2V, C21, D211
3. A=, B2, C=>IV, D>l

4. A=, B=>I1V, C=>1, D=2
Options :
42558919580. 1
42558919581.2
42558919582. 3
42558919583. 4



Question Number : 133 Question Id : 4255895038 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List | with List Il

List | (Software Quality Characteristic) List Il (Description)

A. Reliability . Ability to transfer the software from one organization or
hardware /[ software environment to another.

. Capability of software to maintain its level of
B. Efficiency performance under stated conditions for a stated period
of time.

. Relationship between the level of performance of the
C. Maintainability software and the amount of resources used, under stated
conditions.

D. Portability V. Effort needed to make modifications, including corrections,
improvements or adaptation of software to changes in
environment, requirements and functional specifications.

Choose the correct answer from the options given below:
1. A, B-llI, C-1, D-IV
2. A-ll, B, C-1V, DA
3. A, Bl C, DIV

4.  A-WIV, BHl, C-, D-lI
Options :
42558919584. 1
42558919585.2
42558919586. 3
42558919587. 4



Question Number : 133 Question Id : 4255895038 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List | with List Il

List | (Software Quality Characteristic) List Il (Description)

A. Reliability . Ability to transfer the software from one organization or
hardware / software environment to another.

. Capability of software to maintain its level of
B. Efficiency performance under stated conditions for a stated period
of time.

. Relationship between the level of performance of the
C. Maintainability software and the amount of resources used, under stated
conditions.

D. Portability V. Effort needed to make modifications, including corrections,
improvements or adaptation of software to changes in
environment, requirements and functional specifications.

Choose the correct answer from the options given below:
1. A, B-llI, C-1, D-IV
2. A-ll, B, C-1V, D-l
3.  A-llI, B4l C-l, DIV

4. A-lV, B-l, C-l, D-11I
Options :
42558919584. 1
42558919585.2
42558919586. 3
42558919587. 4



Question Number : 134 Question Id : 4255895039 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List | with List Il

List | List Il
A. Equivalence Partitioning R Measures independent paths in code
B. Boundary Value Analysis 1l Divides input into valid/invalid sets
C. Cyclomatic Complexity . Focuses on limits of input ranges
D. Decision Table Testing V. In which a number of combinations of actions are tested under
varying sets of conditions.

Choose the correct answer from the options given below:
1. Al B-l, C-l, D-IV
2. A, B-lI, C-Iv, D-I
3. A, B-I, C-l, DAV

4. A-lV, B-ll, C-l, D-Il
Options :
42558919588. 1
42558919589. 2
42558919590. 3
42558919591. 4

Question Number : 134 Question Id : 4255895039 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List | with List Il

List I List Il
A. Equivalence Partitioning L. Measures independent paths in code
B. Boundary Value Analysis Il Divides input into valid/invalid sets
C. Cyclomatic Complexity 1. Focuses on limits of input ranges
D. Decision Table Testing v. In which a number of combinations of actions are tested under
varying sets of conditions.

Choose the correct answer from the options given below:
1.  A-ll, B-lil, C-l, D-1V
2. A-lI, B-lll, C-IV, D-I
3. AN, B-ll, C-l, D-IV

4. A-IV, B-ll, C-l, D-11I
Options :
42558919588. 1
42558919589.2
42558919590. 3
42558919591. 4



Question Number : 135 Question Id : 4255895040 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List I with List I

List | List Il
A. Circular Queue I. Print Queue
B. Priority Queue 1. CPU Scheduling
C. Double Ended Queue 11l. Dijkstra algorithm
D. Simple Queue IV. Palindrome checking

Choose the correct answer from the options given below:
1.  A-ll, B-llI, C-l, D-IV
2. A-ll,B-ll, C-IV, DAl
3. A-lL, B-ll, C-l, DIV

4. AV, B-ll, C-, D-I

Options :

42558919592. 1
42558919593. 2
42558919594. 3
42558919595. 4



Question Number : 135 Question Id : 4255895040 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List I with List 1l
List | List Il
A, Circular Queue I. Print Queue
B. Priority Queue 1. CPU Scheduling
C. Double Ended Queue 11l. Dijkstra algorithm
D. Simple Queue IV. Palindrome checking

Choose the correct answer from the options given below:
1.  A-ll, B-llI, C-l, D-IV
2. A, B-lI, C-IV, D-l
3. A-lll, B-lI, C-l, D-IV

4. A-IV, B-ll, C-1, D-111
Options :

42558919592 1
42558919593. 2
42558919594. 3
42558919595. 4

Question Number : 136 Question Id : 4255895041 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List | with List I
List | (Hashing Collison Handling Method) List Il (Strategy)
A. Chaining l. Check next slot
B. Linear Probing Il. Use second hash function
C. Quadratic Probing lil. Linked list at index
D. Double Hashing IV. Skip slots using quadratic step

Choose the correct answer from the options given below:
1.  AAl, B-lll, C-, D-IV
2. AALB-, C-IV, DA
3. AAI, B, C-IV,D-I

4. A4V, B-ll, C-, D-1II

Options :

42558919596. 1
42558919597.2
42558919598. 3
42558919599. 4



Question Number : 136 Question Id : 4255895041 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List | with List I
List | (Hashing Collison Handling Method) List Il (Strategy)
A. Chaining l. Check next slot
B. Linear Probing Il. Use second hash function
C. Quadratic Probing lil. Linked list at index
D. Double Hashing IV. Skip slots using quadratic step

Choose the correct answer from the options given below:
1. A-l, B-llL, C-l, D-IV
2. AALB-I, C-IV, DA
3. AAI, B, C-IV, D-I

4. A4V, B-ll, C-, D-1II

Options :

42558919596. 1
42558919597. 2
42558919598. 3
42558919599. 4



Question Number : 137 Question Id : 4255895042 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List | with List 11

List | List Il
A. Count to infinity problem I. Mobile Adhoc Networks
B. IEEE 802.16 Il. Distance vector routing
C. IEEE 802.15 lil. WiMAX
D. AODV protocol IV. Bluetooth

Choose the correct answer from the options given below:
1. A-ll, B-l, C-l, DIV
2. A, B-lI, C-IV, D-l
3. A-l, B-lv, C-lil, D-I

4. AV, B-lll, G-, D-I

Options :

42558919600. 1
42558919601. 2
42558919602. 3
42558919603. 4

Question Number : 137 Question Id : 4255895042 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List I with List I
List | List 11
A. Count to infinity problem I. Mobile Adhoc Networks
B. IEEE 802.16 Il. Distance vector routing
C. IEEE 802.15 1l. WiMAX
D. AODV protocol IV. Bluetooth

Choose the correct answer from the options given below:
1. A-ll, B-ll, C-l, DIV
2. A, B-,C-IV, DA
3. A, B-lv,C-lil, DA

4.  A-V, B-lll, C-, D-I

Options :

42558919600. 1
42558919601. 2
42558919602. 3
42558919603. 4



Question Number : 138 Question Id : 4255895043 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List | with List 11

List | List 1l
A. Digital Signature |. Asymmetric encryption algorithm.
B. Hash Function Il. Confirms authenticity and integrity.
C. AES lll. Produces a fixed-size digest.
D. RSA IV. Symmetric encryption algorithm.

Choose the correct answer from the options given below:
1. A, B, C-l, DIV
2. A, BN, C-IV, DA
3. A, B-lI, C-l, DIV

4. A-lV, B, C-, D-lIl

Options :

42558919604. 1
42558919605. 2
42558919606. 3
42558919607. 4



Question Number : 138 Question Id : 4255895043 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List | with List 11

List | List 11
A. Digital Signature l. Asymmetric encryption algorithm.
B. Hash Function Il. Confirms authenticity and integrity.
C. AES lll. Produces a fixed-size digest.
D.RSA IV. Symmetric encryption algorithm.

Choose the correct answer from the options given below:
1. AL, Bl C-l, DIV
2. A, B, C-IV, D-I
3. A-ll, B-ll, C-l, DIV

4. A-IV, B-1l, C-1, D-1II
Options :

42558919604. 1
42558919605. 2
42558919606. 3
42558919607. 4

Question Number : 139 Question Id : 4255895044 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List | with List Il

List | (Operations on Fuzzy Sets) List Il (Description)

A. Intersection Lops () + pp(x) — py(x). pp(x)
B. Bounded Sum . max(0, ;(x)— pix))

C. Bounded Difference . min(1, py(x)+ pg(x))

D. Algebraic Sum V. min(uy(x) , pg(x))

Choose the correct answer from the options given below:
1.  A=I,B=>1,C>I, DIV
2. A=, B=>1, C=21V, D>
3. A1V, B=11,C21, DI

4.  A=I1l, B=>1, C=21ll, D=1V
Options :
42558919608. 1
42558919609. 2
42558919610. 3
42558919611. 4



Question Number : 139 Question Id : 4255895044 Question Type : MCQ Option Shuffling

Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List | with List Il

: No Display Question Number : Yes Is Question

List | (Operations on Fuzzy Sets)

List Il (Description)

A. Intersection

B. Bounded Sum

C. Bounded Difference

D. Algebraic Sum

Lo (o) + () — p (). g ()

. max(0, pw;(x)— ppx))

M. min(1, py0)+ pz))

IV. min(uy (x) , pgx))

Choose the correct answer from the options given below:

1. A1, B, C11, DIV
2. A, B, C1V, DI
3. ASIV, B, C11, DI

4. A=, B=>1, C=211l, D=1V
Options :
42558919608. 1
42558919609. 2
42558919610. 3
42558919611. 4



Question Number : 140 Question Id : 4255895045 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List | with List Il

List | (GA termination criteria) List Il (description)

A. Worst Individual I. Atleast half of the individual will be better than or equal to
convergence value

B. Best Individual Il. Guarantees that virtually all individuals in the population will
be within a particular fitness range

C. Sum of Fitness Il. Guarantees that the entire population to be of a minimum
standard

D. Median Fitness IV. Faster search Convergence, guaranteeing at least one best
solution

Choose the correct answer from the options given below:
1. A=, B=>1V, C11, DI
2. A=WV, B2, C21, D211
3. A=, B>, C2I, D231V

4. A=, B2, C=2>1V, D2

Options :

42558919612. 1
42558919613. 2
42558919614. 3
42558919615. 4



Question Number : 140 Question Id : 4255895045 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List | with List 1l

List | (GA termination criteria) List Il (description)

A. Worst Individual I. Atleast half of the individual will be better than or equal to
convergence value

B. Best Individual Il. Guarantees that virtually all individuals in the population will
be within a particular fitness range

C. Sum of Fitness Il. Guarantees that the entire population to be of a minimum
standard

D. Median Fitness IV. Faster search Convergence, guaranteeing at least one best
solution

Choose the correct answer from the options given below:
1. A=, B=>1V, C11, DI
2. A=WV, B2, C21, D211
3. A=, B>, C2II, D21V

4. A=, B2, C=2>1V, D2

Options :

42558919612. 1

42558919613. 2

42558919614. 3

42558919615. 4

Sub-Section Number : 2
Sub-Section Id : 425589203
Question Shuffling Allowed : No



Question Id : 4255895046 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Consider the following Three Address code sample for solving the questions :

100 t1=y+2
101 : initial = x/t1
102 : limit = 10
103 : ifi >j goto 105
104 : goto 111
105 : if num > b goto 107
106 : goto 111
107 : num = limit-1
108 : b=y+2
109: i=i-num
110 : goto 103
111: j=i-num
112 : k= j+b

Sub questions

Question Number : 141 Question Id : 4255895047 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is the correct High level code for the given TAC in the passage

1 | tl=y+2 2 | init = x/(y+2);

init = x/t1; limit=10;

limit=10; while(i>j | | num>b)

if(i>] 11 num>b) {

{ num = limit-1;
num = limit-1; b=y+2;
b=y+2; i=i—num;
i=i—num; }

} j=i-num;

j=i-num; k = k+b;

k = k+b;

3 | init = x/(y+2); 4 | init = x/(y+2);
limit=10; limit=10;

if(i>j) while(i>] && num>b)

{ {

While( num>b) num = limit-1;
num = limit-1; b=y+2;

} i=i—num;

else }

{ j=i-num;
b=y+2; k = k+b;
i=i—num;

}

j=i-num;

k = k+b;

Options :

42558919616. 1
42558919617. 2
42558919618. 3
42558919619. 4



Question Number : 142 Question Id : 4255895048 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What are the various LEADERS (leading statements) for the TAC given in the passage?

1. 100, 102, 103, 104, 105, 107, 110
2. 100, 103, 105, 107, 111, 112

3. 100, 103, 105, 106, 107, 111

4. 100, 103, 104, 105, 106, 107, 111
Options :

42558919620. 1
42558919621. 2
42558919622. 3
42558919623. 4

Question Number : 143 Question Id : 4255895049 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the followings is the correct Flow graph for the TAC given in the passage?

(01000 007
0011000
0000001
1. |0000110
0000001
0100000
0000000

(010000
001000
101000
010001
000001
000001

(01000 00;
0001010
0000001
3. |0010010
0000001
0100000
10100000

010000
001000
101000
010001
000001

000001

Options :

42558919624. 1

42558919625. 2

42558919626. 3

42558919627. 4

Question Number : 144 Question Id : 4255895050 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0



What all blocks does Block 3 & Block 5 dominate in the Flow graph for the TAC given in the
passage?

1. Block3:3 ; Block5:5
2. Block3:3,4,5,6 ; Block5:5,6
3. Block3:3,7 ; Block5:5,7

4. Block3:3,4,7 ; Block5:5,6,7

Options :

42558919628. 1
42558919629.2
42558919630. 3
42558919631. 4

Question Number : 145 Question Id : 4255895051 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is the Optimized version for the given TAC in the passage

1 100 : t1 =y+2 2| 100: tl1=vy+2
101 : initial = x/t1 101 : initial = x/t1
102 : limit=10 102 : limit=10
103 : if i >j goto 105 103 : ifi >j goto 105
104 : goto 111 104 : if num < b goto 111
105 : if num > b goto 107 105 : num = limit-1
106 : goto 111 106: b=11
107 : b=y+2 107 : i=i-num
108 : i=i-limit-1 108 : goto 103
109 : goto 103 109 : k=i+b
110: k=i+b

3 100 : t1 =y+2 4| 100: tl=y+2
101 : initial = x/t1 101 : initial = x/t1
102 : limit=10 102 : limit=10
103 : num=9 103 : if i >j goto 105
104 : if i >j goto 105 104 : goto 111
105 : goto 111 105 : if num < b goto 111
106 : if num >b goto 107 106 : num = limit-1
107 : goto 111 107 : b=11
108 : i=i-num 108 : i=i-num
109 : goto 103 109 : goto 103
110: j=i-num 110 : k= i+b
111 : k=j+t1

Options :

42558919632. 1
42558919633. 2
42558919634. 3
42558919635. 4



Question Id : 4255895046 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Consider the following Three Address code sample for solving the questions :

100 : t1=y+2
101 : initial = x/t1
102 : limit = 10
103 : ifi >j goto 105
104 : goto 111
105 : if num > b goto 107
106 : goto 111
107 : num = limit-1
108 : b=y+2
109: i=i-num
110 : goto 103
111: j=i-num
112 : k= j+b

Sub questions

Question Number : 141 Question Id : 4255895047 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is the correct High level code for the given TAC in the passage

1 | tl=y+2 2 | init = x/(y+2);

init = x/t1; limit=10;

limit=10; while(i>j | | num>b)

if(i>] 11 num>b) {

{ num = limit-1;
num = limit-1; b=y+2;
b=y+2; i=i—num;
i=i—num; }

} j=i-num;

j=i-num; k = k+b;

k = k+b;

3 | init = x/(y+2); 4 | init = x/(y+2);
limit=10; limit=10;

if(i>j) while(i>] && num>b)

{ {

While( num>b) num = limit-1;
num = limit-1; b=y+2;

} i=i—num;

else }

{ j=i-num;
b=y+2; k = k+b;
i=i—num;

}

j=i-num;

k = k+b;

Options :

42558919616. 1
42558919617. 2
42558919618. 3
42558919619. 4



Question Number : 142 Question Id : 4255895048 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What are the various LEADERS (leading statements) for the TAC given in the passage?

1. 100, 102, 103, 104, 105, 107, 110
2. 100, 103, 105, 107, 111, 112

3. 100, 103, 105, 106, 107, 111

4. 100, 103, 104, 105, 106, 107, 111
Options :

42558919620. 1
42558919621.2
42558919622. 3
42558919623. 4

Question Number : 143 Question Id : 4255895049 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the followings is the correct Flow graph for the TAC given in the passage?

(01000 007
0011000
0000001
1. |0000110
0000001
0100000
0000000

(010000
001000
101000
010001
000001
000001

(01000 00;
0001010
0000001
3. |0010010
0000001
0100000
10100000

010000
001000
101000
010001
000001

000001

Options :

42558919624. 1

42558919625. 2

42558919626. 3

42558919627. 4

Question Number : 144 Question Id : 4255895050 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0



What all blocks does Block 3 & Block 5 dominate in the Flow graph for the TAC given in the
passage?

1. Block3:3 ; Block5:5

2. Block3:3,4,5,6 ; Block5:5,6

3. Block3:3,7 ; Block5:5,7

4. Block3:3,4,7 ; Block5:5,6,7

Options :

42558919628. 1
42558919629. 2
42558919630. 3
42558919631. 4

Question Number : 145 Question Id : 4255895051 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is the Optimized version for the given TAC in the passage

1 100 : t1 =y+2 2| 100: tl1=vy+2
101 : initial = x/t1 101 : initial = x/t1
102 : limit=10 102 : limit=10
103 : if i >j goto 105 103 : ifi >j goto 105
104 : goto 111 104 : if num < b goto 111
105 : if num > b goto 107 105 : num = limit-1
106 : goto 111 106: b=11
107 : b=y+2 107 : i=i-num
108 : i=i-limit-1 108 : goto 103
109 : goto 103 109 : k=i+b
110: k=i+b

3 100 : t1 =y+2 4| 100: tl=y+2
101 : initial = x/t1 101 : initial = x/t1
102 : limit=10 102 : limit=10
103 : num=9 103 : if i >j goto 105
104 : if i >j goto 105 104 : goto 111
105 : goto 111 105 : if num < b goto 111
106 : if num >b goto 107 106 : num = limit-1
107 : goto 111 107 : b=11
108 : i=i-num 108 : i=i-num
109 : goto 103 109 : goto 103
110: j=i-num 110 : k=i+b
111 : k=j+t1

Options :

42558919632. 1

42558919633. 2

42558919634. 3

42558919635. 4

Sub-Section Number : 3
Sub-Section Id : 425589204
Question Shuffling Allowed : No



Question Id : 4255895052 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)

Consider the following disc Queue with requests for 1/0 to block on cylinders :

45, 81, 185, 33, 175, 99, 150, 77

(Consider that the head starts from location 58)

Sub questions

Question Number : 146 Question Id : 4255895053 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
What shall be the total head movement of cylinders if the FCFS disc scheduling method is used ?
(1) 536
(2) 594
(3) 647
(4) 700

Options :

42558919636. 1

42558919637. 2

42558919638. 3

42558919639. 4

Question Number : 147 Question Id : 4255895054 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What will be the total head movement of cylinders for the SSTF disc Scheduling technigue ?
(1) 160
(2) 124
(3) 177
(4) 240

Options :

42558919640. 1
42558919641. 2
42558919642. 3
42558919643. 4

Question Number : 148 Question Id : 4255895055 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What shall be the 2" request being processed by SCAN (LEFT) disc Scheduling technique for the already
given request queue ?
1. 81

2. 45

3. 33

4. 175
Options :

42558919644. 1
42558919645. 2
42558919646. 3
42558919647. 4

Question Number : 149 Question Id : 4255895056 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What shall be the total head movement of cylinders for the C-SCAN disc Scheduling technique if the head
starts moving in the right direction from initial position ?

(1) 327

(2) 307

(3) 525

(4) 385

Options :



42558919648. 1
42558919649. 2
42558919650. 3
42558919651. 4

Question Number : 150 Question Id : 4255895057 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What shall be the 2™ request being processed by C-LOOK (Right) disc Scheduling technique for the already

given request queue ?

(1 8
(2) 45
(3) 77
(4) 33
Options :

42558919652. 1
42558919653. 2
42558919654. 3
42558919655. 4



Question Id : 4255895052 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)

Consider the following disc Queue with requests for 1/0 to block on cylinders :

45, 81, 185, 33, 175, 99, 150, 77

(Consider that the head starts from location 58)

Sub questions

Question Number : 146 Question Id : 4255895053 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
What shall be the total head movement of cylinders if the FCFS disc scheduling method is used ?
(1) 536
(2) 594
(3) 647
(4) 700

Options :

42558919636. 1

42558919637. 2

42558919638. 3

42558919639. 4

Question Number : 147 Question Id : 4255895054 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What will be the total head movement of cylinders for the SSTF disc Scheduling technigue ?
(1) 160

(2) 124

(3) 177

(4) 240
Options :

42558919640. 1
42558919641. 2
42558919642. 3
42558919643. 4

Question Number : 148 Question Id : 4255895055 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What shall be the 2" request being processed by SCAN (LEFT) disc Scheduling technique for the already
given request queue ?
1. 81

2. 45

3.33

4. 175

Options :

42558919644. 1
42558919645. 2
42558919646. 3
42558919647. 4

Question Number : 149 Question Id : 4255895056 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What shall be the total head movement of cylinders for the C-SCAN disc Scheduling technique if the head
starts moving in the right direction from initial position ?

(1) 327

(2) 307

(3) 525

(4) 385

Options :



42558919648. 1
42558919649. 2
42558919650. 3
42558919651. 4

Question Number : 150 Question Id : 4255895057 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What shall be the 2™ request being processed by C-LOOK (Right) disc Scheduling technique for the already

given request queue ?

(1) 8
(2) 45
(3) 77
(4) 33
Options :

42558919652. 1
42558919653. 2
42558919654. 3
42558919655. 4



